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Section Marks : 100

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622855
Question Shuffling Allowed : Yes

Question Id : 5362281387 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension

Consider the following table that shows the number of girls enrolled 1n three different
Universities A. B and C over the vears 2015 to 2019. Based on the data in the table. answer
the questions 1- 5:

Year-wise Number of Girls in Different Universities

Number of girls in a University

Year
A B C

2015 | 15.000 10,000 5,000

2016 | 10.000 17.500 20,000

2017 | 22,500 12,000 15,000

2018 | 20.000 25,000 15,000

2019 | 25,000 20.000 22,500

Sub questions

Question Number : 1 Question Id : 5362281388 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What 1s the ratio between the total number of girls enrolled in Umiversity C in the year 2018
and the total number of girls enrolled in University A and University B together in the same
vear?

(1) 4:3 (2) 3:4
(3) 2:3 4 1:3
Options :

5362285401. 1
5362285402. 2
5362285403. 3
5362285404. 4

Question Number : 2 Question Id : 5362281389 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The difference between the number of girls enrolled in the year 2019 and 2015 1s minimum

for

(1) University A only (2) University B only

(3) Both University A and University B (4) Both University A and Unmiversity C

Options :

5362285405. 1
5362285406. 2
5362285407. 3
5362285408. 4

Question Number : 3 Question Id : 5362281390 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What 1z the average number of girls enrolled in the vear 2017 in all the three Universities

together?
(1) 20.000 (2) 16.500
(3) 10,000 (4) 18.500
Options :

5362285409. 1
5362285410. 2
5362285411. 3
5362285412. 4

Question Number : 4 Question Id : 5362281391 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Total number of girls enrolled in all the three Universities together in the vear 2015 1s what

percentage (%) of the total number of girls enrolled in University C in the year 20187

(1) 200% (2) 225%
(3) 165% (4) 45.4%
Options :

5362285413. 1
5362285414.2
5362285415. 3
5362285416. 4

Question Number : 5 Question Id : 5362281392 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The total number of girls enrolled 1n all the three Universities together i1s second highest for
the vear

(1) 2019 (2) 2018
(3) 2017 (4) 2016
Options :

5362285417. 1
5362285418. 2
5362285419. 3
5362285420. 4

Question Id : 5362281387 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension
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Number of girls in a University

Year
A B C

2015 | 15.000 10.000 5.000

2016 | 10.000 17,500 20,000

2017 | 22,500 12,000 15,000

2018 | 20.000 25.000 15,000

2019 | 25.000 20,000 22,500




Sub questions

Question Number : 1 Question Id : 5362281388 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o9 2018 ¥ favatamme™ C # Ffaen o4 aTell STierpsl =i %ol @EE a9 361 99 {GvataeeE A 3R

favafaamea B 5 afaen =+ arett afersradt i Affeid Fel S 1 S99 391 7 ¢
(1) 4:3 (2) 3:4

(3) 2::3 (&) 1:3
Options :

5362285401. 1
5362285402. 2
5362285403. 3
5362285404. 4

Question Number : 2 Question Id : 5362281389 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

a9 2019 3T T4 2015 H SMGeT o ATl eIl i HEa § A Hefeiiad § ° F
fore e 2 |

(1)  ae favataaeEm A (2) o= Tavata=ea B
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Options :

5362285405. 1
5362285406. 2
5362285407. 3
5362285408. 4

Question Number : 3 Question Id : 5362281390 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

a9 2017 | A1 Tavata=er § FiEen Sarel aerhiAl i SAHd W = o

(1) 20,000 (2) 16,500
(3) 10.000 (4) 18.500
Options :

5362285409. 1
5362285410. 2
5362285411. 3
5362285412. 4

Question Number : 4 Question Id : 5362281391 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

a9 2015 H A FvatmeE 4 afger SHaEe aiess fi wfEea Fe dem =9 2018 H@

Tavafaamem C o eifgen sHare anferwiaAt i Het gean F1 e gfaem 27

(1) 200% (2) 225%
(3) 165% (4) 45.4%
Options :

5362285413. 1
5362285414. 2
5362285415.3
5362285416. 4

Question Number : 5 Question Id : 5362281392 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



r
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(1) 2019 (2) 2018
(3) 2017 (4y 2016
Options :

5362285417. 1
5362285418. 2
5362285419. 3
5362285420. 4

Sub-Section Number : 2
Sub-Section Id : 53622856
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362281393 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

From the following. identify those characteristics which go within the categorv “helping
behaviour’ for becoming an effective teacher :

(A)  Structuring

(B) Student success rate

(C) Using student 1deas

(D)  Probing

(E) Instructional variety

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (B).(C) and (D) only
(3) (C). (D) and (E) only (4) (A). (C)and (D) only
Options :



5362285421. 1
5362285422.2
5362285423. 3
5362285424. 4

Question Number : 6 Question Id : 5362281393 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285421. 1
5362285422.2
5362285423. 3
5362285424. 4

Question Number : 7 Question Id : 5362281394 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What are the activities of teaching associated with its interactive stage?

(A) Planning of lesson
(B) Determining learning outcomes

(C) Prezenting the content interspersed with questions
(D) Providing feedback and probing. if need be

(E) Motivating and monitoring students tasks

Choose the correct answer from the options given below :

(1)  (A). (B) and (C) only (2) (B).(C) and (D) only
(3) (A). (C) and (D) only (4) (C). (D) and (E) only
Options :

5362285425. 1
5362285426. 2
5362285427. 3
5362285428. 4

Question Number : 7 Question Id : 5362281394 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285425 1
5362285426. 2
5362285427. 3
5362285428. 4

Question Number : 8 Question Id : 5362281395 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In Gagne's hierarchy of learning which type of learning immediately precedes ‘Rule

learming™?

(1) Problem solving learning (2) Concept learning
(3) Diserimination learning (4) Chain learning
Options :

5362285429. 1



5362285430. 2
5362285431. 3
5362285432. 4

Question Number : 8 Question Id : 5362281395 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.
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(1) === Toree sty (2) TOIF AT
(3) a5z st (4) wEer At
Options :

5362285429. 1
5362285430. 2
5362285431.3
5362285432. 4

Question Number : 9 Question Id : 5362281396 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which of the scales of measurement, the properties of classification and order. both are
present?

(D Nominal (2) Ordinal
(3) Interval (4) Ratio
Options :

5362285433. 1
5362285434.2
5362285435. 3
5362285436. 4

Question Number : 9 Question Id : 5362281396 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

g ATt o i 9o 9 2T T SufeE B R

(1)  =E= (2) FHF
(3) = (4) I
Options :

5362285433. 1
5362285434.2
5362285435.3
5362285436. 4

Question Number : 10 Question Id : 5362281397 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: The purpose of ICT interventions 1n classroom teaching 1s to promote and
optimise learning outcomes.

Statement IT: Most of the on-line methods like Swayam and MOOCs etc. have the potential
to become effective supplements to conventional teaching-learning systems.

In the hight of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are fal=e

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I is incorrect but Statement I 1s true
Options :

5362285437. 1
5362285438. 2
5362285439. 3
5362285440. 4



Question Number : 10 Question Id : 5362281397 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285437. 1
5362285438. 2
5362285439. 3
5362285440. 4

Question Number : 11 Question Id : 5362281398 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Aszertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A):  Research ethics mandates use of appropriate and authentic procedures to

arrive at truth and advancing solutions to problem.

Reason (R) : Credibility of research 1s not only a przed goal but a prerequisite for

excellence in human pursuit.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct
Options :
5362285441. 1
5362285442. 2
5362285443. 3
5362285444, 4

Question Number : 11 Question Id : 5362281398 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285441. 1
5362285442. 2
5362285443.3
5362285444. 4

Question Number : 12 Question Id : 5362281399 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List II. List I gives qualitative research perspectives while List IT provides
the central questions addressed by them.

ListI List IT

(A) Ethnography (I) What common set of symbols and
understandings have emerged to give
meaning to people’s interactions?

(B) Heurstics (IT) What 1s the culture of thiz group of
people?

(C) Phenomenology (IIT) What 1= my experience of this
phenomenon?

(D) Symbolic iInteractionism (IV) What 1s the structure and essence of

experience of this phenomenon for
thosze people?

Choose the correct answer from the options given below :

(1) (AD), (B)-(IV). (C)-IID. (D)-(II)
(2)  (A)-dD. (B)-I). (C)-IV), (D)-(D)
(3) (A)-(I1D). (B)-(ID). (C)-(D), (D)-(IV)
(4) (A)-(IV). (B)-(D). (C)-(II). (D)-(III)

Options :

5362285445. 1

5362285446. 2

5362285447. 3
5362285448. 4

Question Number : 12 Question Id : 5362281399 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(I @D, B)-AV). (C)-d1I), (D)-(1I)
(2) (A)-(II). (B)-(III). (C)-@V). (D)-(I)
(3) (A1, B)-ID. (C)-@), (D)-IV)
(4) (A)-(IV), (B)-(I). (C)-ID. (D)-(III)

Options :

5362285445. 1

5362285446. 2

5362285447. 3
5362285448. 4

Question Number : 13 Question Id : 5362281400 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A college teacher intends to study the problems of latecomers 1n the classroom. Which type of
sampling method will be appropriate in this context?

(1) Stratified sampling (2) Random sampling
(3) Purposive sampling (4) Cluster sampling
Options :

5362285449. 1
5362285450. 2
5362285451.3
5362285452. 4

Question Number : 13 Question Id : 5362281400 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) =g wia==m (2) TEf=a® Aia=a
(3)  wWETSE AidaEA (4) FHE Tia=E
Options :

5362285449. 1
5362285450. 2
5362285451.3
5362285452. 4

Question Number : 14 Question Id : 5362281401 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What are the activities which take place during the stage of reconnalssance in action
research?

(A) Identifying and classifving general 1dea
(B) Describing the facts of the situation

(C) Explaining the facts of the situation
(D) Constructing a general plan

(E) Developing the next action steps

Choose the correct answer from the options given below :

(1) (B) and (C) only (2) (A) and (B) only
(3) (C) and (D) only (4) (D) and (E) only
Options :

5362285453. 1
5362285454. 2
5362285455. 3
5362285456. 4

Question Number : 14 Question Id : 5362281401 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(A) T gEo F TEEE q9T T
(B)  wifEafaE % qzar w1 9uE

(C)  uitfeufaa = dwai =il = He
(D) = FrEAT 0 A

(E) 37T FMfcHs =on =i faehfad = |

I T8 ™ faweT 5 O w6 I 9

(1) 3= (B) 3K (C) (2) Fae (A) R (B)

(3)  #== (C) 3 (D) (4) Faa (D) # (B)
Options :

5362285453. 1
5362285454. 2
5362285455.3
5362285456. 4

Question Number : 15 Question Id : 5362281402 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A teacher intends to establish the relationship between educational status of parents and
the scholastic achievement of pupils. Which of the following method of research will be

considered appropriate for this study?

(1) Philosophical method
(2) Historical method
(3) Expost facto method

(4) Experimental method
Options :
5362285457. 1
5362285458. 2
5362285459. 3
5362285460. 4

Question Number : 15 Question Id : 5362281402 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
U oA SATAaTEER i e fTut 99 S o I SUSmaE s gy T w1 9wl 2 | 2E
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Options :
5362285457. 1
5362285458. 2



5362285459. 3
5362285460. 4

Question Number : 16 Question Id : 5362281403 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Whach of the following 1s essential in classroom communication?

(1) Frequent repetition of the message 1n different ways
(2) Avoilding repetition of the message

(3) Interrupting the speaker frequently

(4d) Avolding eve contact with students

Options :

5362285461. 1
5362285462. 2
5362285463. 3
5362285464. 4

Question Number : 16 Question Id : 5362281403 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :



5362285461. 1
5362285462. 2
5362285463. 3
5362285464. 4

Question Number : 17 Question Id : 5362281404 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Classroom communication involves

(A) Listening by learning

(B) Formal lecturing

(C) Informal discussions

(D) Less importance to feedback

(E) Explaining

Choose the correct answer from the options given below :

(1)  (A). (B). (C) only (2) (B).(C). (D) only
(3  (B). (0. (E) only (4) (C). (D). (E) only
Options :

5362285465. 1
5362285466. 2
5362285467. 3
5362285468. 4



Question Number : 17 Question Id : 5362281404 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o1 WU H a7 H F o 7 7 7

(A) AT A FA

(B)  r=ETE = A
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(E) T FAT

(1) #= (A). B) 31 (C) (2)
(3) === (B). (C) #1 (E) (4)

Options :

5362285465. 1
5362285466. 2
5362285467. 3
5362285468. 4

F4a4 (B). (C) 311 (D)

Fa (C). (D) AR (E)

Question Number : 18 Question Id : 5362281405 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : To be effective 1n the classroom, a teachers should minimise the

communication barriers.

Reason (R) : Since communication 1s a complex process. regular feedback analysis 1s

essential for this purpose.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1= correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

5362285469. 1
5362285470. 2
5362285471. 3
5362285472. 4

Question Number : 18 Question Id : 5362281405 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285469. 1
5362285470. 2
5362285471. 3
5362285472. 4

Question Number : 19 Question Id : 5362281406 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct chronological sequence of the developers of communicative systems :

(A) Germans
(B) Romans
(C) Sumerians
(D) Chinese

(E) British

Choose the correct answer from the options given below :

(1) (A (C). (B). (E). (D) (2) (C). (B). D). A), (B)
(3) (B). (C). (E), (D), (A) 4y (D). (E). (C). (A). (B)
Options :

5362285473. 1
5362285474. 2
5362285475.3
5362285476. 4

Question Number : 19 Question Id : 5362281406 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A (C). (B), (E). (D) 2)  (O). (B). D). (A). (B)

(3)  (B).(0).(E) D). A @) (D). (E). (). (A). (B)
Options :

5362285473. 1
5362285474. 2
5362285475. 3
5362285476. 4

Question Number : 20 Question Id : 5362281407 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with ILast II. Last I gives Modes of Commumnication. while List IT provides their

description

ListI List IT
(Modes of Communication) (Dezcription)
(A) Publicity ()’ Reputation management
(B) Propaganda (ITI) Paid message
(C) Advertising (ITII) Non-commercial promotion
(D) Public relations (IV) Communication with motives

Choose the correct answer from the options given below :

(2)  (A-ID. (B)-(ILD. (C)-(IV). (D)-(D)
(3)  A-IV). (B)-1). (C)-11I). (D)-(II)

(4  (A)-dI). (B)-(IV), (C)-ID). (D)-(I)
Options :
5362285477. 1
5362285478. 2
5362285479. 3
5362285480. 4

Question Number : 20 Question Id : 5362281407 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g=1-I =1 gi-I1 & gafeq Hifao

-1 111
(wFeror fafer) (Fereron)
(A) TER @ e vEeE
(B) ITER D) U #E
(C) fasrm (D) T arorfsas dada
(D) = T7F (@IV) EuEE HO
H=t fo7 T foebent § @ wE = g

1) (A)-(I). (B)-(1I), (C)-(1I), (D)-(IV)
(2) (A)-(ID. (B)-(I1D). (C)-(IV). (D)-(I)
(3) (A)-(IV). (B)-1). (C)-IID). (D)-(I1I)

(4) (A)-(IID). (B)-(IV), (C)-(I), (D)-(I)

Options :

5362285477. 1
5362285478. 2
5362285479. 3
5362285480. 4

Question Number : 21 Question Id : 5362281408 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I : It 1s possible that there are 53 Tuesdays in a non-leap yvear.
Statement II : In a non-leap vear, there are 54 of each day plus one extra day.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1s incorrect but Statement IT 1s true
Options :

5362285481. 1
5362285482.2
5362285483. 3
5362285484. 4

Question Number : 21 Question Id : 5362281408 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= 3 YA ffu e E

o4 (I): o7 994 & T feel f-sifead (977 =9 <) § TeEn #1535 |
Fe (ID) :  Tohe T—1iem § ueaeh 29 54 91 374 7 371 U A1 29 76 2 |
ITIF FYAT o A H I fahedl § H HA I 9 ¢

(1) =y I3k I EH 58 2 |

(2) =y I sk I 2MT e 2 |

(3) FHIT=z Fg 5 7o 2|

(4) =y I AEea 7 g %o oA 7 |

Options :
5362285481. 1
5362285482.2



5362285483. 3
5362285484. 4

Question Number : 22 Question Id : 5362281409 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Kavitha collected 8 spiders (with 8 legs each) and beetles (with 6 legs each). When she
counted the legs. she found that there were altogether 54. Which of the following 1s/are true?

(A) She collected 5 spiders
(B) She collected 3 spiders
(C) She collected 5 beetles
(D) She collected 3 beetles

Choose the correct answer from the options given below :

(1) (A) and (C) only (2)  (A) and (D) only
(3) (B) and (D) only (4) (B) and (C) only
Options :

5362285485. 1
5362285486. 2
5362285487. 3
5362285488. 4

Question Number : 22 Question Id : 5362281409 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Higar 4 8 WHISA (TeF 8 W Arch) R 9T (UAF 6 W A1) THEG R | oW 3E W1 A et fioat
T T 39 F T 54 o | e § ¥ S iE-E1/HE -0 TaE e

(A)  FEF b THISA UHEE H |

(B) 35 3 HHISAT UHLE H |

(C) 35 5 971 UHEA #l |

(D) IEF 3 97 UHEE H

Fr T2 T faret § @ @R I R

(1)  #a9 (A) 37 (C) only (2) =ae (A) #E (D) only

(3)  Fa= (B) 317 (D) only (4) Fa (B) 37 (C) only

Options :

5362285485. 1
5362285486. 2
5362285487. 3
5362285488. 4

Question Number : 23 Question Id : 5362281410 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Complete the series :

R Ty
1 75 2 76
3 77 @ 78

Options :

5362285489. 1
5362285490. 2
5362285491. 3
5362285492. 4

Question Number : 23 Question Id : 5362281410 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2.5,9.19.37,.....

(1) 75 (2) 76

(3) 77 (4) 78
Options :

5362285489. 1
5362285490. 2
5362285491. 3
5362285492. 4

Question Number : 24 Question Id : 5362281411 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

At what time between 2 and 3 o'clock will the hour hand and minute hand of a eclock
together?

(D 10% min. past 2 () 1[}% min. past 2
10 . :
(3) 11ﬁ min. past 2 (4) 11 min. past 2

Options :

5362285493. 1
5362285494. 2
5362285495. 3
5362285496. 4

Question Number : 24 Question Id : 5362281411 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) 239 1{}%1'54:12'47. (2 2999 10%1%1?:117
(3) 2= 11% e m (4) 233 1192 W

Options :

5362285493. 1
5362285494. 2
5362285495. 3
5362285496. 4

Question Number : 25 Question Id : 5362281412 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The average of seven consecutive numbers 1s 33. The largest of these numbers 1s

(1) 39 (2) 34
(3) 30 (4) 38
Options :

5362285497. 1
5362285498. 2
5362285499. 3
5362285500. 4

Question Number : 25 Question Id : 5362281412 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTq HiHF ST &1 9d 33 | =90 © Oed 931 o 201 -

(1) 39 (2) 34
(3) 36 (4) 38
Options :

5362285497. 1



5362285498. 2
5362285499. 3
5362285500. 4

Question Number : 26 Question Id : 5362281413 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The second member of the N¥aya syllogism which states the reason for the establishment of
the proposition 1s called.

(D Pratyna (2) Hetu
(3) Udaharana (4) Upnaya
Options :

5362285501. 1
5362285502. 2
5362285503. 3
5362285504. 4

Question Number : 26 Question Id : 5362281413 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

M F9E ° A F IE A99d ATaREE il TET % 0 a9 291 7, 39 ®al A e -

~

1) vl 2 =3
(3) L A (4) 373
Options :

5362285501. 1
5362285502. 2
5362285503. 3
5362285504. 4

Question Number : 27 Question Id : 5362281414 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In the argument. ‘sky flower 1s fragrant because 1t 1s a lotus’ e.g. which ever 1s lotus, 1s
fragrant e.g. lotus growing in that pond’

Mention the type of fallacy from the following :

(1) Swaroopasidha (2) Ashrvasidha
(3) Vyaptytvasidha (4) Virudha
Options :

5362285505. 1
5362285506. 2
5362285507. 3
5362285508. 4

Question Number : 27 Question Id : 5362281414 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

"SATRTIIREA Gl 7 FI 9% A 7 | See o fore = ot Ael BT & °F gigd Ban 2, S| R
ATeTTE | 3 T F0 |

=0 9% § eAfeiEd 9 o TRE SeaE i Seoid TR T R

(1) w==uEg (2) ImyAtTE
(3) TeAG 4 fa=g

Options :

5362285505. 1
5362285506. 2
5362285507. 3
5362285508. 4

Question Number : 28 Question Id : 5362281415 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List II. List I gives the four types of fallacies while List II explains their
description.

List I List IT

(A) Asidha (). ' Here the middle term 1= contradicted
by another middle term.

(B) Savyabhichara (II) Here the middle term 1= contradicted
by some other pramana and not by
inference.

(C) Satpratipaksha (IIT) It 1s the fallacy of the irregular middle

(D) Badhita (IV) It 1s the fallacy of the unproved middle

Choose the correct answer from the options given below :

(1) (A)-(IL). (B)-(D), (C)-(IID). (D)-(IV)
(2) (A)-(I1I), (B)-(IV), (C)-(ID), (D)-(I)
(3) (A)-(D). (B)-(ID), (C)-aV). (D)~(III)
(4) (A)-(IV), (B)-(III). (C)-(D. (D)-(II)
Options :

5362285509. 1

5362285510. 2

5362285511.3

5362285512. 4

Question Number : 28 Question Id : 5362281415 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A1 i FA1-11 § gafea IS0 G-I 1 97 TR & seams & F@is gei-10 | 336 =amen 4§ T 2 -

gil-I TH-11
(B) w=ATHEw 1) :ﬂﬂﬁj}‘rmuﬁaﬁﬂqmgm:rfm
TFT 371 TH1 g0 BT |
(C) daufaus IID) == AT =0 1 79 2 |
D) =i (Iv) qT:;.'ﬂ'f.q—r'"u%ﬁT‘ﬂ%;ﬂMH%I

= 2 T faweT 8 @ mE I =99 i
1) (A)-(ID). (B)-(I), (C)-(I1I). (D)-(IV)
(2) (A)-(IID). (B)-(IV). (C)-(II). (D)-(D)
(3) (A)-(D). (B)-(IL), (C)-(IV), (D)-(III)
(4) (A)-(IV). (B)-(IID). (C)-(I). (D)-(II)

Options :
5362285509. 1
5362285510. 2

5362285511. 3
5362285512. 4

Question Number : 29 Question Id : 5362281416 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reaszon (R) :

Assertion (A): Indian Philosophy has been 1ntensely spiritual and has always

emphasized the need of practical realization of truth.

Reason (R) : The wood ‘darshana’ means “vision’ and also the instrument of vision
which stands for the direct immediate and intuitive vision of Reality and

also includes the means which lead to this realization.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 15 not correct but (R) 1s correct
Options :
5362285513. 1
5362285514. 2
5362285515.3
5362285516. 4

Question Number : 29 Question Id : 5362281416 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



9 2 o T2 T # ; w AT (A) 3R g F A (R) FE T

FirFeE (A) - TR T T =T § oNeniaE w2 it oo =N B o 1 s g A
SATETHHAT 9§ 1237 T E |

i) L

S THIES 28 1 TAF 7 G997 EH 97 Aghed i WiEa 2 | 8 dagta i A o

Al = |

3”:?'3 ’-Fﬂzﬁ' =+ -'i-IIvIHI'Hh 'E[ ELSIED Ircldnrvm '.l:[ '.q mﬁ%ﬁﬁ I T —Eﬁ- ;

D (@) i ®) T #E E S R), (A) A = = 2
@ (@) #R ®) = T T R). (A) F O = =
(3) (A TE 2w (R) 79 T8 2 |

(4)  (A) TF TE 2 T R) T R
Options :
5362285513. 1
5362285514. 2
5362285515.3
5362285516. 4

Question Number : 30 Question Id : 5362281417 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : In Indian Philosophy., Nyayva advocates the theory of extrinsic validity of
knowledge called “Paratah Pramanvad”.

Statement II: The Mimansa advocates the self-validity of knowledge both in respect of its

origin and ascertalnment.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement IT 1s incorrect

(4) Statement I 1s incorrect but Statement I 1s correct
Options :

5362285517. 1
5362285518. 2
5362285519. 3
5362285520. 4

Question Number : 30 Question Id : 5362281417 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ﬁﬁﬁ$ﬂq%ﬁﬂﬁ%
FoF ([): WA 2909 § =T 79 % a729 3947 1 g4 2 5 W ummEng FE1 S 2

o (1) :  Seats st fafo =i 2fe & A 59 6 sete dua i ands 2)
SUFd HYA F AAE B IR e § H waias 39 I 94

(1) Foq I 3 1L =M1 &t 2 |
(2) Fy I 317 IL =1 o8 981 2 |
(3) A I@# 2 g ua 11 @21 72 2

(4)  wuE Iad 78 2 g o I oF 2

Options :

5362285517. 1
5362285518. 2
5362285519. 3
5362285520. 4

Question Number : 31 Question Id : 5362281418 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Microsoft Access, Oracle and SQL are example of

(1) File Data Base (2) Relational Data Base
(3) Template (4) Attmbute
Options :

5362285521. 1
5362285522.2
5362285523. 3
5362285524. 4

Question Number : 31 Question Id : 5362281418 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ATEHETT TFHE, ARF AR UH 9 UF Aeiaiad 4 § e 33 R
(1) IS STel SE (2) TeTEe =
(3) e (4) #A=E
Options :

5362285521. 1
5362285522.2
5362285523. 3
5362285524. 4

Question Number : 32 Question Id : 5362281419 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Operating system 1s an interface between

(1) Software and hardware (2) Compiler and hardware
(3) User and Computer (4) Program and software
Options :

53622855251
5362285526. 2
5362285527.3
5362285528. 4

Question Number : 32 Question Id : 5362281419 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) =iz HAT BT (2) =TSR T ETEAE
(3) T HN wEE (4) T FHRT AFEETT
Options :

53622855251
5362285526.2
5362285527.3
5362285528. 4

Question Number : 33 Question Id : 5362281420 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which technology 1s used for crypto currency?

(1 Java (2) Block chain
(3) Block code (4) Python
Options :

5362285529. 1
5362285530. 2
5362285531. 3
5362285532. 4

Question Number : 33 Question Id : 5362281420 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i > B L e . i = Y & B [ L.y
2l Tl = hF TEieen] 1 TEe e S E

(1) = (2) == =
(3)  ==E WS (4) =
Options :

5362285529. 1
5362285530. 2
5362285531. 3
5362285532. 4

Question Number : 34 Question Id : 5362281421 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : Internet 1s the largest information base and has become a vital part of our
lives.

Statement IT : HTML 1s an incomplete code package that allows a user to create web pages.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1= incorrect but Statement II 1s true
Options :

5362285533. 1
5362285534. 2
5362285535.3
5362285536. 4

Question Number : 34 Question Id : 5362281421 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



= = e By E

wo (1) : 202 =1 1 Ha 951 ATER 7 A0 97 291 S99 1 Hecadol S 94 T4 |
e (1) : HTML U Ag0 H7S T & 1 T g1 98 95 S 999 55T 7 |
T FHAA F AT A AR [FHeT §H FA I

(1)  FFEIAR I 74 2 |

(2 FFEIAIZA =4z |

(8) v\ @ 2 fohg e I 7Terd 7 |

(4)  FF I 3mca 2 g wom L& 2|

Options :

5362285533. 1

5362285534.2

5362285535.3
5362285536. 4

Question Number : 35 Question Id : 5362281422 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Full form of the abbreviation CPS 1s :

(1) Computer Program Software
(2) Control Process Software

(3) Cyber Physical Software

(4) Cyber Phys=ical System

Options :

5362285537. 1
5362285538. 2
5362285539. 3



5362285540. 4

Question Number : 35 Question Id : 5362281422 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

CPS fi=iferfiga § o g ofiqea =g 27
(1) g T0H AR
(2)  THIA THH BRI

(38) == THiaFa givedsw

(4)  wEw THEFa Tem

Options :

5362285537. 1
5362285538. 2
5362285539. 3
5362285540. 4

Question Number : 36 Question Id : 5362281423 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following conventions protocol originated from Rio Earth Summit?

(A) UN Framework convention on climate change
(B) Ramsar convention on wetlands
(C) UN convention to combat desertification

(D) Eyoto Protocol
(E) Convention on Biological Diversity

Choose the most appropriate answer from the options given below :

(1) (A). (B) and (E) only (2) (A). (C). (D) and (E) only
(3)  (A). (C) and (E) only (4) (B). (C). (D) and (E) only
Options :

5362285541. 1



5362285542.2
5362285543.3
5362285544. 4

Question Number : 36 Question Id : 5362281423 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FeAfefad § ¥ FF F F99E [T i Seafed FEl gzt o ares O 557
) Y Hel T e

(C) U =l THAT F [0 T 72 Faor
(D) AT WEERA

o

H= T ™ et 8 @ wE T g
(1) F== (A), (B) 3 (B) (2) F= (A), (O). (D) ¥ (E)
(3) = (A), (C) ¥ (E) (4) == (B), (C). (D) 37 (E)

Options :

5362285541. 1
5362285542.2
5362285543. 3
5362285544. 4

Question Number : 37 Question Id : 5362281424 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following goals are part of Sustainable Development Goals?

(A) Industry. Innovation and Infrastructure
(B) Universal higher education

(C) Reduced Inequality

(D) Partnerships to achieve goals

(E) Clean air

Choose the correct answer from the options given below :

(1) (A). (B). (C) and (D) only (2) (A). (C) and (D) only
(3)  (A). (B). (C) and (E) only (4) (B). (C). (D) and (E) only
Options :

5362285545. 1
5362285546. 2
5362285547.3
5362285548. 4

Question Number : 37 Question Id : 5362281424 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fafefga 9 @ = 4 @57 gad fasm @& 4 wfas 27

(A)  FE, TEER AR AGEEA
(B) =i = Tomw 3= o

(C)  =/@grar § =i

(D)  =%F 9T FA F e 'EEreE
(E) w=== a4

(D F= (A). (B). (O) T (D) (2) = (A), (C) =R (D)
(3)  Fa= (A), (B). (C) 3 (E) (4) Fa= (B). (C). (D) 31 (E)

Options :
5362285545. 1
5362285546. 2



5362285547.3
5362285548. 4

Question Number : 38 Question Id : 5362281425 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following countries in increasing order of their installed capacities of wind
energy (as on 2018) :

(A) China
(B) India
(C) USA
(D) France

(E) Germany

Choose the correct answer from the options given below :

1) O<®<0)<® <@ @ O@<®<® <0 <@
(3) (D) =B) <((E)<(C)=(A) 4y (E)<(D)<(B)<(C)<(A)
Options :

5362285549. 1
5362285550. 2
5362285551. 3
5362285552. 4

Question Number : 38 Question Id : 5362281425 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



frAfefiaa 2o =t 1 Tam et $1 geurug agar (2018 F1 foufd & 99ER) % §ed %9 9 7

@  =m

(B)  und

(C) 4T

D) %=

(E) =

< fot m foet 9 A A 3 R

1) DM=<E=(C)=B) <@ 2) D) <(E)<B)<(C)<®)

3B D=B=<E=0C=A 4) (E)=[D)=@B)=(C)=@A)
Options :

5362285549. 1
5362285550. 2
5362285551.3
5362285552. 4

Question Number : 39 Question Id : 5362281426 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I : Sunlight 1s a pre-requisite for the formation of photochemical smog in urban
areas.

Statement IT : Photochemical smog 1s a recurring phenomenon in winter and summer
seasons 1n urban areas of India.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1s incorrect but Statement Il 1s true
Options :

5362285553. 1



5362285554. 2
5362285555. 3
5362285556. 4

Question Number : 39 Question Id : 5362281426 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

wuA (I): 9= &l § e TEEEE - o A % e gd w wee v gaia # |

FA (D) : TFEEIEENT H-FET GG & TE] & § Wawe o dEE § an-an w6 A
r,:ré..|

IUF FYAT % AR ° ARG Ao § @ wE I o
(1) = [ IL3MT 541 & |

(2) FHF 1A 24 =4 & |

(3) U= L@ = g A 11 7em = |

(4) w35 2 g o LT 2|

Options :

5362285553. 1

5362285554. 2

5362285555. 3
5362285556. 4

Question Number : 40 Question Id : 5362281427 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Global warming potential of a molecule of a greenhouse gas over different
time spans of decades to 100 years may vary significantly.

Reason (R) : Some greenhouse gases have shorter life times compared to carbon
dioxade.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(4) (A) 1= not correct but (R) 1s correct

Options :

5362285557. 1

5362285558. 2

5362285559. 3
5362285560. 4

Question Number : 40 Question Id : 5362281427 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Fr=r 21 A fau e 2 TR O w1 Al (A) AR g6 # 9 (R) FaE T R

HITRT (A) : ZorhT © =t 100 =91 = HA- 310 TEEEUe 3 01 =8E 19 & w1 i dfvas am
4 gfg Fa AT amar § wF ST B T E
% (R) : F2 AiaT28 TG1 1 STl He S13 SA9E1ss i 9o 3 HH w6l F |

1) (&) R ®) A T F @ R). A) F 7 ==
@ Q) i ®) 3 T E e R), (A) F A e T
@) (@ ®) T R
(49 (AT FE 2w (R) T 2
Options :
5362285557. 1
5362285558. 2

5362285559. 3
5362285560. 4

Question Number : 41 Question Id : 5362281428 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Teacher-Education 1nstitutions belong to which of the following category?

(1) Non-conventional (2) Technical
(3) Professional (4) Skill bazed

Options :

5362285561. 1
5362285562. 2
5362285563. 3
5362285564. 4



Question Number : 41 Question Id : 5362281428 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Torers —foreqor T Fe=rfeifaa 9 o e gl 9 s 27

(1)  T-unie @) T
(3)  =EERE (4) o smehE
Options :

5362285561. 1
5362285562. 2
5362285563. 3
5362285564. 4

Question Number : 42 Question Id : 5362281429 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : Universities of Nalanda. Taxsila and Vikramshila of ancient India are now
all located 1n the Indian Territory.

Statement IT: The entrance test of 1its own kind was prevalent 1n the ancient seats of
learning of India.

In the light of the above statements. choose the most appropriate answer from the options
eiven below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement Il 1s incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

5362285565. 1
5362285566. 2



5362285567. 3
5362285568. 4

Question Number : 42 Question Id : 5362281429 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= 2 T T E

FoH () :  TEH AR ® AE, q@Een AR [GmaEen & Gvarem gaeE § oW qEdE &9 A
A 7 |

FoF (1) : 97 = = 9187 gl § 997 29 AT TR =R TS0 T0ET 26l o |

ST FHUA F AT § IR Gt 3 F Haiae SugEd I I

(1) oA L #2920 2 |

(2) ¥ I 3R I 2A =96 77 7 |

(3)  wua 14 2 g e I a4 =71 2 |
(4) w1 = 77 7 g FoF L5 7 |

Options :

5362285565. 1
5362285566. 2
5362285567. 3
5362285568. 4

Question Number : 43 Question Id : 5362281430 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Atal Ranking of higher education institutes and umversities 1s related to achievements in

(1) Basic sciences research

(2) Innovation and entrepreneurship development

(3) Distance mode education

(4) Promotion of environmentally sustainable practices.
Options :

5362285569. 1
5362285570. 2
5362285571. 3
5362285572. 4

Question Number : 43 Question Id : 5362281430 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

z=a Tove Tt i favatamemt 1 s e fefafan 3 3 fm soeteat & oy 33 27
(1)  difers fasm gEaE

(2) TETER FH FEEal T

(3) 7 furen wfafy

(4)  TEEEIE = O GURUE Tgaa F Taed

Options :

5362285569. 1
5362285570. 2
5362285571.3
5362285572. 4

Question Number : 44 Question Id : 5362281431 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the basic values which can be characterized by the central motivational goal are
related to self transcendence?

(A) Conformity
(B) Power

(C) Benevolence
(D) Universalism
(E) Hedonism

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B)and (C) only
(3) (C) and (D) only (4) (D) and (E) only

Options :

5362285573. 1
5362285574.2
5362285575. 3
5362285576. 4

Question Number : 44 Question Id : 5362281431 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Frald U 3evA (HeE ZTHSHE JH SN hiA-H SEEe god ATCHRIed (Aeh-2THsH) § Heiad 7 ¢
A)  FFE

(B) T

(C)  HerEmEa

(D)  FEHITEE

(B) =mam

Fr T ™ foredl 8 5 wE S 9

(1) #== (A) 3R (B) (2) Fa= (B) 31 (C)

(3)  Fa= (C) 3R (D) (4) A (D) 3 (E)

Options :
5362285573. 1
5362285574.2



5362285575.3
5362285576. 4

Question Number : 45 Question Id : 5362281432 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : Holistic education 1n ancient India was not just acquisition of knowledge as
preparation for life in this world or Iife beyvond schooling but for complete
realisation and liberation of the self.

Statement I : Values of plura_]is;:a, mutual understan-_:iing and peace constituted the
foundation of holistic education during ancient education.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement [ and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I is incorrect but Statement II 1s true
Options :

5362285577. 1
5362285578. 2
5362285579. 3
5362285580. 4

Question Number : 45 Question Id : 5362281432 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285577. 1
5362285578. 2
5362285579. 3
5362285580. 4

Sub-Section Number : 3
Sub-Section Id : 53622857
Question Shuffling Allowed : Yes

Question Id : 5362281433 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage carefully and answer questions from 46 to 50.

‘Being value-centred 1s important to the experence of fulfilment 1n my life: Here the thought
has the stamp of the core concept of ‘'value-centred’ and ‘fulfilment’. This 1s good. However, 1t
has yet not moved Into creative 1imagination of how this can be made possible 1n reality.
Thus, 1t runs the risk of becoming an opinion or simply. a nice thought. ‘A value-centred life
1s tough 1n today’s world. This thought formation could arise from a past experience where
life was made difficult by being value-centred. Also. there could be stories and imagined
scenarios being created in the mind. ‘what if...", ‘what if not...", ete. This could be related to
the comfort-seeking nature of the senses and a part of the vital hife-force that wants to take
the easy way out. If one's core essential concept 1z fulfilment, these imaginary formations
can be halted and the thought can be frozen. Now one can note that without the clarity that
the core principle 1s ‘fulfilment’. this imagination will often be allowed to fashion and
complete its formation. This in turn, will affect the quality of our life and the choices made
then may not serve the ‘fulfillment’ value of the individual. The idea force can use its
sanctioning power to move those thought formations that are aligned to the core concept of
‘value-centred hiving’ and fulfilment and make still or reject those thought formations that
fed by fear'. ‘anxiety’. ‘desire for compromised quicker success’. etc. And if a value or 1deal 1=

not clear. it can reach back to the pure mind for further clarity’.

Sub questions

Question Number : 46 Question Id : 5362281434 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s needed for self-fulfilment?

(1) Focus on values (2) Stamping of the core concept
(3) good thoughts (4) Experience 1n life
Options :

5362285581. 1



5362285582.2
5362285583. 3
5362285584. 4

Question Number : 47 Question Id : 5362281435 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The thought of value-based life as tough can be attributed to

(A) being value-centred
(B)  past experiences of difficulty
(C) wild imaginations

(D) the inclination to be 1n a comfort zone

Choose the correct option :

(1) (A) and (B) (2) (B)and (D)
(3)  (B)and (C) (4) (C) and (D)
Options :

5362285585. 1
5362285586. 2
5362285587. 3
5362285588. 4

Question Number : 48 Question Id : 5362281436 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



How can an individual move away from imaginary formations about value-centredness?
(1) By freezing one's own thoughts of good life

(2) By having nice thoughts about values in life

(3) By being clear about fulfilment of Iife

(4) By being fashionable about the core concept of life

Options :

5362285589. 1
5362285590. 2
5362285591. 3
5362285592. 4

Question Number : 49 Question Id : 5362281437 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The vague 1deas of value-centred life for self-fulfillment will

(1) disturb the comforts of life (2) lead to creative imaginations
(3) promote good quality of life (4) reject the very values sought after
Options :

5362285593. 1
5362285594. 2
5362285595.3
5362285596. 4

Question Number : 50 Question Id : 5362281438 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the assertion of the author of the passage?

(1) value-centred life 15 an unclear thought
(2) The principle of value-centredness 1s a difficult proposition to achieve
(3) Many factors aligned with value-centredness are negative in character

(4) Todayv's world 1s not for any value system



Options :

5362285597. 1
5362285598. 2
5362285599. 3
5362285600. 4

Question Id : 5362281433 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (46 to 50)

Question Label : Comprehension

(eATeriiae e 1 SIYEE Tl FN 3HE HTUE T v HeAr 46 9 50 9 o 39 A

‘g —hfrgd BF1 AT Sfiad § THArT 1 SFI9T U A F T BEeaqel 2 : 791, 3@ faEn g ‘geg—ahfed)

31 ‘uftdrs’ 1 Tehfrga FAFUROT F UWE 2| T8 31 2 | 99, T8 3 9 BT geHens Feu 7 6

ST & 6 anarawa § 38 HE WY A 1 56T 2 | SAe 39F 9% § 9 Aihad ? F FE 95 am

O UF S0 =R S A T 90| F % [Gva ¥ qea-dhiegd S9q Hied & | 39 HEr w5 HE e

F WA T 7 Tl 2, WAl God-hiad B % 0T SEA S S0 23 T A1 | S6E e UH] Fare
3 Hfeqd uftgya 21 wd 2 A A d ghm PP w2, 38 SR w2 ar e, Rz A

]
Lt

... ofg | =77 sfga 7 smw = 1 wfa @ metua = R e 39 aEea SfEa-se # 9e R A
ATeHEEF 0 A9 9EdT & | At i =afga 1 gfga oTavas w9unon gidm 2, 91 = FeuEs

E=T W T S TAl B3N SO HAEE W oaEg TR S Al 2| UF YA ¢ T Odiad fhad
oftam’ 7, sEeht TR & A B wew w um: e o g ee it sata & Sl g 1 9 =

feram = qea Figa e i ufam Fi @hfza sEaron % w@9ey 39 fFEr A 5 afE w9 S

[}

AT T WiGd B T H HRAT 2 AR A fEn-FE w fER @ o w2 o

o', i e T F H Fea g TNNA B B | A AR i gew A A T R A 4

3T 23T TI2dr i % foT g 99§ 9199 v5d oA 2 |



Sub questions

Question Number : 46 Question Id : 5362281434 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) qe1 T ST Higd H il (2) TehfZa FTUTON F 9T =i |
(3) ar=s fa=mi #i (4) = I

Options :

5362285581. 1
5362285582.2
5362285583. 3
5362285584. 4

Question Number : 47 Question Id : 5362281435 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g~ SATITHRA S Fisd 21 7, T2 =R F=ha 4 9 567 7 smanfa 27

(A) Hoa Ffgd sH W
(B) T % FiaT FIAA T

(C) FogE FATST T

(D) W =T H FEfd W

Foretifn & & A fasen =

(1) (A 71 (B) (2) (B) # (D)
(3) (B) 3 (C) (4) (C) #r (D)

Options :

5362285585. 1
5362285586. 2
5362285587.3
5362285588. 4

Question Number : 48 Question Id : 5362281436 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) =3 Hia- & a1 9§ A7 =9 & oG & G
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Options :



5362285589. 1
5362285590. 2
5362285591. 3
5362285592. 4

Question Number : 49 Question Id : 5362281437 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HATH - & 0 geg—higd e + 3508 =

(1)  =Ea = AWE | e sem (2) FoATCHT FoTATT 309 F
(3) = S =R W S o (4) FUiE godi H1 SRR 0

Options :

5362285593. 1
5362285594. 2
5362285595. 3
5362285596. 4

Question Number : 50 Question Id : 5362281438 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TR % oiEE I SATEHYE R Y

(1)  gea-=hfgd e v 310w fa=m 2 |

(2)  HeA—Higaar =1 fagra gt = o0 wF =i afasnte 2 |
(3)  HeA-Tehfrgddl @ HE(4d 3% FH HULTCA® F=ET 6 7 |
(4) A = TEva T goa wonett % fo T8 2 |

Options :

5362285597. 1
5362285598. 2
5362285599. 3
5362285600. 4



PART II Telugu

Section Id : 53622820
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622858
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362281439 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285601. 1
5362285602. 2
5362285603. 3
5362285604. 4

Question Number : 51 Question Id : 5362281439 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285601. 1
5362285602. 2
5362285603. 3
5362285604. 4

Question Number : 52 Question Id : 5362281440 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285605. 1
5362285606. 2
5362285607. 3
5362285608. 4

Question Number : 52 Question Id : 5362281440 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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2 ayie
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4, a8
Options :

5362285605. 1
5362285606. 2
5362285607. 3
5362285608. 4

Question Number : 53 Question Id : 5362281441 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

QDT O IO
1. S$NL0S THesen

2. Benihes Haen

3. £ &0 esen

4. D000 Thazen
Options :

5362285609. 1
5362285610. 2
5362285611. 3
5362285612. 4

Question Number : 53 Question Id : 5362281441 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



QP IE ST :
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. D090 Hamen
Options :
53622856009. 1
5362285610. 2
5362285611.3
5362285612. 4

Question Number : 54 Question Id : 5362281442 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285613. 1
5362285614.2
5362285615. 3
5362285616. 4

Question Number : 54 Question Id : 5362281442 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285613. 1
5362285614.2
5362285615. 3
5362285616. 4

Question Number : 55 Question Id : 5362281443 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285617. 1
5362285618. 2
5362285619. 3
5362285620. 4

Question Number : 55 Question Id : 5362281443 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285617. 1
5362285618. 2
5362285619. 3
5362285620. 4

Question Number : 56 Question Id : 5362281444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285621. 1
5362285622.2
5362285623.3
5362285624. 4

Question Number : 56 Question Id : 5362281444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285621. 1
5362285622. 2
5362285623. 3
5362285624. 4

Question Number : 57 Question Id : 5362281445 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

oraerd Aroce)d Heso

1. )R
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Options :

5362285625. 1
5362285626. 2
5362285627. 3
5362285628. 4

Question Number : 57 Question Id : 5362281445 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285625. 1
5362285626. 2
5362285627. 3
5362285628. 4

Question Number : 58 Question Id : 5362281446 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

80H 73S @U 50 Grdo

e N
5 @),
2’
[l
&

Options :

5362285629. 1
5362285630. 2
5362285631. 3
5362285632. 4

Question Number : 58 Question Id : 5362281446 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285629. 1
5362285630. 2
5362285631. 3
5362285632. 4

Question Number : 59 Question Id : 5362281447 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285633. 1
5362285634. 2
5362285635. 3
5362285636. 4

Question Number : 59 Question Id : 5362281447 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362285633. 1
5362285634. 2

5362285635.3
5362285636. 4

Question Number : 60 Question Id : 5362281448 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285637. 1
5362285638. 2
5362285639. 3
5362285640. 4

Question Number : 60 Question Id : 5362281448 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285637. 1
5362285638. 2
5362285639. 3
5362285640. 4

Question Number : 61 Question Id : 5362281449 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285641. 1
5362285642. 2
5362285643. 3
5362285644. 4

Question Number : 61 Question Id : 5362281449 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285641. 1
5362285642. 2
5362285643. 3
5362285644. 4

Question Number : 62 Question Id : 5362281450 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285645. 1
5362285646. 2
5362285647. 3
5362285648. 4

Question Number : 62 Question Id : 5362281450 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362285645. 1
5362285646. 2

5362285647. 3
5362285648. 4

Question Number : 63 Question Id : 5362281451 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285649. 1
5362285650. 2
5362285651. 3
5362285652. 4

Question Number : 63 Question Id : 5362281451 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285649. 1
5362285650. 2
5362285651. 3
5362285652. 4

Question Number : 64 Question Id : 5362281452 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285653. 1
5362285654. 2
5362285655. 3
5362285656. 4

Question Number : 64 Question Id : 5362281452 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285653. 1
5362285654. 2
5362285655. 3
5362285656. 4

Question Number : 65 Question Id : 5362281453 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285657. 1
5362285658. 2
5362285659. 3
5362285660. 4

Question Number : 65 Question Id : 5362281453 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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AT B e Tmb e
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B

Options :

5362285657. 1
5362285658. 2
5362285659. 3
5362285660. 4

Question Number : 66 Question Id : 5362281454 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

00D IS’ SIOS'D DB TIFTY) | BOE Ho20AOD0H?

1. @065 & 0
2. 2P 0
3. AT e & S0
4, 23 P00
Options :

5362285661. 1
5362285662. 2
5362285663. 3
5362285664. 4

Question Number : 66 Question Id : 5362281454 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285661. 1
5362285662. 2
5362285663. 3
5362285664. 4

Question Number : 67 Question Id : 5362281455 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

20(0 55 20TV AT (DG TOE 23°:5:3¢8 Se sty |

.28 a3l

LoD BB

. B30y 0E 56 T
. 2SS HorredSo

B

Options :

5362285665. 1
5362285666. 2
5362285667. 3
5362285668. 4

Question Number : 67 Question Id : 5362281455 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2010 55 BTV AT (DG TOAA e7dN s :

.5 b

L o0 esB3Y)

. BBy SEnE 0 T
. RCHATH fomredo

B

Options :

5362285665. 1
5362285666. 2
5362285667. 3
5362285668. 4

Question Number : 68 Question Id : 5362281456 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Do 5l NG £33 TEBOD rFyeh s 2SN HOF T -

=

1. & |57

2. 563 525

3. & Teo CAOGR
4. 8.0, SHO

Options :

5362285669. 1
5362285670. 2
5362285671. 3
5362285672. 4

Question Number : 68 Question Id : 5362281456 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



“D0° 205 DG 656 EB0DN A= )ehs 2dNES DOF LK ;

1.
P
3. @E&- Céocim
4. B.0. TS

Options :

5362285669. 1
5362285670. 2
5362285671. 3
5362285672. 4

Question Number : 69 Question Id : 5362281457 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

& 5 B |Hodd Gdowe :

o
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e
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e
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Options :

5362285673. 1
5362285674.2
5362285675. 3
5362285676. 4

Question Number : 69 Question Id : 5362281457 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1. 850 Q0. TBI®

2. B.a). Food

3. O 0N

4. 8D.2. ey
Options :

5362285673. 1
5362285674.2
5362285675. 3
5362285676. 4

Question Number : 70 Question Id : 5362281458 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

"SI0 e & 5 B (o Sdawe

. C8208 B, e
DEDD
es0¢3 es0)

. o0 A, |[F56

B

Options :

5362285677. 1
5362285678. 2
5362285679. 3
5362285680. 4

Question Number : 70 Question Id : 5362281458 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285677. 1
5362285678. 2
5362285679. 3
5362285680. 4

Question Number : 71 Question Id : 5362281459 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ATGAD T VOV 4(a)ed HOoD) TOW @b

R N[ARAPIINY
DT2FDSD

. BoeTre
TSV A INY

Fu W P

Options :

5362285681. 1
5362285682. 2
5362285683. 3
5362285684. 4

Question Number : 71 Question Id : 5362281459 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A
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e X[AuA PRI
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. BoeTe e
ATV A INY

P DI

Options :

5362285681. 1
5362285682. 2
5362285683. 3
5362285684. 4

Question Number : 72 Question Id : 5362281460 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

20205900 AP et 200 50" D0 8010 RS St :

DEOTPERE [aredngd seb
2085588 (2rsS0en b
ENENVE NV o oMW ER T

. TB|58 DaDGIEY |05 fed

O N

Options :

5362285685. 1
5362285686. 2
5362285687. 3
5362285688. 4

Question Number : 72 Question Id : 5362281460 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



20205900 AP et 200 50" D0 8010 RS St :

DEOTPERE [aredngd seb
2085588 (2rsS0en b
ENENVE NV o oMW ER T

. TB|58 DaDGIEY |05 fed

O N

Options :

5362285685. 1
5362285686. 2
5362285687. 3
5362285688. 4

Question Number : 73 Question Id : 5362281461 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

€5 VOGRS DeFTAET 95DTr0 2rard)) AGFra0NS @e0sd TR (0G0 !

B
4
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L
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4
ol
LE

Options :

5362285689. 1
5362285690. 2
5362285691. 3
5362285692. 4

Question Number : 73 Question Id : 5362281461 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285689. 1
5362285690. 2
5362285691. 3
5362285692. 4

Question Number : 74 Question Id : 5362281462 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Sr5SE) TraER £ DY) FOF JF0YST 8 DG P38 ToHeod

. 2300508 DGy

DS VBAET 8 D)
Ho® DBrLE DGy

. 0|88 Do)

B

Options :

5362285693. 1
5362285694. 2
5362285695. 3
5362285696. 4

Question Number : 74 Question Id : 5362281462 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Jr5HE) TraE R £ DG FES JH0pST S8 DDy HPesd TochHeod

. 2220585 D
DT VBAET 8 DS
o DTS NGy

. T30 688 et

B

Options :

5362285693. 1
5362285694. 2
5362285695. 3
5362285696. 4

Question Number : 75 Question Id : 5362281463 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

27 &% Torered TS HT°20

. BDAE TR0
. P00 o} T°EA0
. 6068 38 ) TEA0

. @fi) T0

B

Options :

5362285697. 1
5362285698. 2
5362285699. 3
5362285700. 4

Question Number : 75 Question Id : 5362281463 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



27 TP BTOD TS SYT°EI0

. D] a)TEA0
PO JTLI0
€8 8 ) TPEA0

eofiy )TE0

_h &»u A

Options :

5362285697. 1
5362285698. 2
5362285699. 3
5362285700. 4

Question Number : 76 Question Id : 5362281464 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285701. 1
5362285702. 2
5362285703. 3
5362285704. 4

Question Number : 76 Question Id : 5362281464 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



De502€) ND® 2FAriN8 0 AFI0 TP RaT :

1. SO0

2. T 2P

3. PTRODED 23w
2

4. D3e) DB ged

Options :

5362285701. 1
5362285702. 2
5362285703. 3
5362285704. 4

Question Number : 77 Question Id : 5362281465 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

aNererded Ser|F T e ard)sren ;
A, DOV O
B. &reéd 550

C. edado

D. [2e3ed

0N T

-
[ il 0 =53

A, CSredadd
A, B AP0
. B, C S| edad
. C, D Sedady

B o

Options :
5362285705. 1



5362285706. 2
5362285707. 3
5362285708. 4

Question Number : 77 Question Id : 5362281465 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

aNererded Ser|F T e ard)sren ;
A, DOV O

B. &red %50

C. edaso

D. [2e3ed

o,
)
A,
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NPV

A, CSredadd
A, B AP0
. B, C S| edad
. C, D Sedady

B o

Options :

5362285705. 1
5362285706. 2
5362285707. 3
5362285708. 4

Question Number : 78 Question Id : 5362281466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OITR0EN WT)R) AEsten :
A @TCHE0

B. 2rdUrcihendd

C. ZTvoTrohench

D. “oFad wHo[chck

N0 DArerora) (hlohodk

A, C | gha%
. B, C S| ebadd
. B, D &b
. A, D SPeh3

B

Options :

5362285709. 1
5362285710. 2
5362285711.3
5362285712. 4

Question Number : 78 Question Id : 5362281466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OITR0EN WT)R) AEsten :
A @TCHE0

B. Q00NN
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D. 3% THOLCHCH

N0 DArerora) (hlohodk

A, C | gha%
. B, C S| ebadd
. B, D &b
. A, D SPeh3

B

Options :

5362285709. 1
5362285710. 2
5362285711.3
5362285712. 4

Question Number : 79 Question Id : 5362281467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

0P8 o0 C0C @ DS DS erd)) trshss orar

1. 502 DadPuchy

2. E8S PSPl

3. DIOR SV TR
4. BOVV0T ST

Options :
5362285713. 1



5362285714.2
5362285715. 3
5362285716. 4

Question Number : 79 Question Id : 5362281467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

023 e e OLC0) eoF DD BORS et trshEs Torar

02 DPSGHH

L DB DDIGHE

L DIOD HOE T B0
. BODV0ST SDEDLED

Y I

Options :

5362285713. 1
5362285714.2
5362285715. 3
5362285716. 4

Question Number : 80 Question Id : 5362281468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

DOS’ DPH00&S orered hdodod.

. 8 20| S

. T06h arendcd
rae [aRle);
HoV[aRvleviataliVeV

B

Options :

5362285717. 1
5362285718. 2
5362285719. 3
5362285720. 4



Question Number : 80 Question Id : 5362281468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HOS" DPB0BDS Traed HBood.

1. QE OIS 53

2. TPOE5 Fendcd
RNV e [mEsTe)

4. |5 3yBuaaciedycy

Options :

5362285717. 1
5362285718.2
5362285719. 3
5362285720. 4

Question Number : 81 Question Id : 5362281469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

SN ToI T FODIOMTOO FHaTeTnd T2 )o@ T &?

2

SV VE IS VAT IV ISR Y
SV VERITIVINRTV Y

SV VR VoA VIRV
TG hghy E8 S
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Options :

5362285721. 1
5362285722.2
5362285723. 3
5362285724. 4

Question Number : 81 Question Id : 5362281469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



a0 PR B JOMTE0 FohaTar

SV VE TS VAT VN R Y
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Options :

5362285721. 1
5362285722.2
5362285723. 3
5362285724. 4

Question Number : 82 Question Id : 5362281470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

KOG, SO FotaEd BRU"e 2d3tH?

—

DN0Ed TEON0 @R TLST| N

1. E9053303F° E{i?

2. 28 503 Fdr TR
3. 5°0%H Fedo TG

4. 50570500 TG

Options :

5362285725 1
5362285726. 2
5362285727. 3
5362285728. 4

Question Number : 82 Question Id : 5362281470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



3006ed TE0H0 T T ELIT|R HOTR) SN0 FOBIE DR Ja5th?

1. E9a5303F E@b

2. 28 F50e3 Fdr 03

3. 50%H Fadr 0

4. HHLSTEA6 TS
Options :
5362285725 1
5362285726.2

5362285727.3
5362285728. 4

Question Number : 83 Question Id : 5362281471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

SIPED0C0H50, @QDOHE |2° S e
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. @QDONEId

. DOLTDO TP
. @232

B

Options :

5362285729. 1
5362285730. 2
5362285731.3
5362285732. 4

Question Number : 83 Question Id : 5362281471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285729. 1
5362285730. 2
5362285731. 3
5362285732. 4

Question Number : 84 Question Id : 5362281472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GO DTPQ B0 1o DAFNO0

1

2.504C

3. €5¢8) 1) NP0
4

Options :

5362285733. 1
5362285734.2
5362285735.3
5362285736. 4

Question Number : 84 Question Id : 5362281472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285733. 1
5362285734.2
5362285735. 3
5362285736. 4

Question Number : 85 Question Id : 5362281473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

BO THD IO D) FAD' - 2ot ob
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P L P —
A B
&‘3 -
o
fok
0
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Options :

5362285737. 1
5362285738. 2
5362285739.3
5362285740. 4

Question Number : 85 Question Id : 5362281473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285737. 1
5362285738. 2
5362285739. 3
5362285740. 4

Question Number : 86 Question Id : 5362281474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o305 e 70 DANO0D - OOTHO :

2w o
Bl

Options :

5362285741. 1
5362285742.2
5362285743. 3
5362285744. 4

Question Number : 86 Question Id : 5362281474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285741. 1
5362285742.2
5362285743. 3
5362285744. 4

Question Number : 87 Question Id : 5362281475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“[ITad) foad®? aPCRE 27" @0a)) P farra)) a3 Srrdd 0t orartiy?
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BESEAV e[
. 230508
S |38
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Options :

5362285745. 1
5362285746. 2
5362285747. 3
5362285748. 4

Question Number : 87 Question Id : 5362281475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285745. 1
5362285746. 2
5362285747. 3
5362285748. 4

Question Number : 88 Question Id : 5362281476 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“13 2°h 2.0DAE B0 P08 HOEDS H|HE

W N =

Options :

5362285749. 1
5362285750. 2
5362285751. 3
5362285752. 4

Question Number : 88 Question Id : 5362281476 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



“13 2°h 2.0DAE B0 P08 HOEDS H|HE

Bowoo o

Options :

5362285749. 1
5362285750. 2
5362285751. 3
5362285752. 4

Question Number : 89 Question Id : 5362281477 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

DOTNED D|e3d Doaredidoen ;

G2 | P00 D
TR TN TR
. LAore atiar) o
.00 RBOETE 6 T

T

Options :

5362285753. 1
5362285754.2
5362285755. 3
5362285756. 4

Question Number : 89 Question Id : 5362281477 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



DOTNED D|e3d Doaredidoen ;

G2 | P00 D
TR TN TR
. LAore atiar) o
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T

Options :

5362285753 1
5362285754.2
5362285755. 3
5362285756. 4

Question Number : 90 Question Id : 5362281478 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Bl e o -
TAOT IO ‘TS (HDOSTD DB :

. [202T"a0| €8
Nty
BBSD2
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Options :

5362285757. 1
5362285758. 2
5362285759. 3
5362285760. 4

Question Number : 90 Question Id : 5362281478 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362285757. 1
5362285758. 2
5362285759. 3
5362285760. 4

Question Number : 91 Question Id : 5362281479 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1206 ABF (D), ;e () DG HDoDOTR), HBo50d :
D) (7S 2D @0 DS e S

(2F) ¢ 2Tar Sedsrden enehroeh eoer) HDoweeS &) sPEl.

Options :

5362285761. 1
5362285762. 2
5362285763. 3
5362285764. 4

Question Number : 91 Question Id : 5362281479 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
1808 OB (R), oredded (B)@ HIHY Ho20TR), HB0w50k :

@) 1D A @oe DN e S
(oF) & a7l H5dsrden enchzods ener) HowseS &aryth sed.

1. (D), () DOLAT DBHD
2. (D), (o) BOAT 0057y

3. (Q) DTS, (o) 005D
4. (V) 20 57, (3F) DBE
Options :

5362285761. 1

5362285762. 2

5362285763. 3

5362285764 4

Question Number : 92 Question Id : 5362281480 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Bod ATF (), 2rehiey (37O DB Do2yoR) HBohod
Q) Do IS DO STHYET BetheS DD Fe30TD.
() TSN DITERE [Fd56d DeaDETteod o083,

1. (), (o) DOAT DDA
2. (), (o) DOAT HO5%9
3. () OB, (o) 25D
4. () 20 57, (7)) b
Options :

5362285765. 1
5362285766. 2



5362285767. 3
5362285768. 4

Question Number : 92 Question Id : 5362281480 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1Bod ATF (), 2rehey (37 DB Do) HBohod !
Q) Do IS Do STHYRT BetheS DD 30T
) TP DITERE F05ed deDET 0O e

o) DO OB
e

Sl e Rl
L L S A

Options :

5362285765. 1
5362285766. 2
5362285767. 3
5362285768. 4

Question Number : 93 Question Id : 5362281481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



180D AT (D), eTeRH(aF) & DB DoorTR)) HBosod

Q) TR 257e) G DT S TR,

=5 =]

(oF) DO |2rEHed 2raen eGP0

Options :

5362285769. 1
5362285770. 2
5362285771. 3
5362285772. 4

Question Number : 93 Question Id : 5362281481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



180D AT (D), eTeRH(aF) & DB DoorTR)) HBosod
Q) TR 257e) G DT S TR,

(oF) DO |2rEHed 2raen eGP0

o) BOAP DB
“} Eor:aJ" 05

Options :

5362285769. 1
5362285770. 2
5362285771. 3
5362285772. 4

Question Number : 94 Question Id : 5362281482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1808 APF (Q), orehsy (7O S0 HooFER) Hdood
Q) rearrEd00s arSA0H TN SHTESOOE0,
(o) Seth 2r¥ar A0 8 TedairRs a.dhthenod e,

, (o7) DO DT de)

, (o) BOHT BBy

08, (e ]n:r@?f,ﬁ}
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Options :



5362285773. 1
5362285774.2
5362285775. 3
5362285776. 4

Question Number : 94 Question Id : 5362281482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1Bod AYF (), ey (MO SN0 D020 hdodhod
Q) 2rOTLES0S BN TN TS OE0.

(o) Senth 2rar A0 8 TEAITrRE 2.0thenod a8,

Options :

5362285773. 1
5362285774.2
5362285775. 3
5362285776. 4

Question Number : 95 Question Id : 5362281483 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



180d AT (D), 2rehde (2@ DD doworrdy hBodod
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)
Options :

5362285777. 1
5362285778.2

5362285779. 3
5362285780. 4

Question Number : 95 Question Id : 5362281483 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

180d AT (J), 2Tehe (o7)@ DG doworrdy hBodod
Q) S8 JTETOR), (DG ID.
(3F) STDHE Frehg ST N0 2PN ETErared S)eTreTren arheEow.

1. (), (3F) DOAT DB

2. (D), (7)) DO DO

3. (R) 2B, (77 D05

4. (R) 0 52, (Br) DO
Options :

5362285777. 1
5362285778. 2



5362285779. 3
5362285780. 4

Question Number : 96 Question Id : 5362281484 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1B0B a3 S 18R, HBOTIOE - & 5o EdeTrerd 283

AD

A B C D
.0, C B A
A BiA D
B A B

B

Options :

5362285781. 1
5362285782.2
5362285783. 3
5362285784. 4

Question Number : 96 Question Id : 5362281484 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



B0 a3 S 15357R) HB0S0A - & e STy 283
AT
B. oF
.6
D. £

LA B D
2.D,C B A
3.C, BA D
4.D, CA B

Options :

5362285781. 1
5362285782.2
5362285783. 3
5362285784. 4

Question Number : 97 Question Id : 5362281485 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



B. 3.5. Soffiarorordozen

C. 50650 T4
D. 3368 [ D2TES 7R

1.ABCD
2 B.AGHR
3.ADCB
4.C,B, D, A
Options :
5362285785. 1
5362285786. 2

5362285787. 3
5362285788. 4

Question Number : 97 Question Id : 5362281485 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



B. 3.5. Soffiarorordozen

C. 50650 T4
D. 3368 [ D2TES 7R

1.ABCD
2 B.AGHR
3.ADCB
4.C,B, D, A
Options :
5362285785. 1
5362285786. 2

5362285787. 3
5362285788. 4

Question Number : 98 Question Id : 5362281486 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



b

G

29
P

e

1%
ik
[l
[P
2 A
£
Z4
e,
2
=
LD
[

¥
Iz

o

C. 50478 D0Ziaian
D. DOQRTTEE 0|

.ABCD
DG A B
G DA B
.B,D,CA

L P =

P

Options :

5362285789. 1
5362285790. 2
5362285791. 3
5362285792. 4

Question Number : 98 Question Id : 5362281486 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



b

G

29
P

e

1%
ik
[l
[P
2 A
£
Z4
e,
2
=
LD
[

¥
Iz

o

C. 50478 D0Ziaian
D. DOQRTTEE 0|

.ABCD
DG A B
G DA B
.B,D,CA

L P =

P

Options :

5362285789. 1
5362285790. 2
5362285791. 3
5362285792. 4

Question Number : 99 Question Id : 5362281487 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



C. (23a103rH
D. 908 O

1.4 B, C, D
2.B,C DA
3. ABD
4.0, C B A
Options :
5362285793. 1
5362285794. 2

5362285795.3
5362285796. 4

Question Number : 99 Question Id : 5362281487 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



D. 908 O

1.4 B, C, D
2.B,C DA
3. ABD
4.0, C B A
Options :
5362285793. 1
5362285794. 2

5362285795.3
5362285796. 4

Question Number : 100 Question Id : 5362281488 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



230.2.200. OG0 A0S |Hore S (S0 Hb8ododk :
A, 800D 2700 AYTRV0

B. 80 ararsssne B2 26,

C. 2P rareds & §8r0,

D. Sewih - £:5)¢8 2375 Tadrexn

P B D
B G B A
A8 D A
0GB, A

P L P —

Options :

5362285797. 1
5362285798. 2
5362285799. 3
5362285800. 4

Question Number : 100 Question Id : 5362281488 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



230.2.200. OG0 A0S |Hore S (S0 Hb8ododk :
A, 800D 2700 AYTRV0

B. 80 ararsssne B2 26,

C. 2P rareds & §8r0,

D. Sewih - £:5)¢8 2375 Tadrexn

P B D
B G B A
A8 D A
0GB, A

P L P —

Options :

5362285797. 1
5362285798. 2
5362285799. 3
5362285800. 4

Question Number : 101 Question Id : 5362281489 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



S Te0

-
o

2283 DT S (Bdra) ook :
A 50050
B. Oardidoosn

C. DR OOHF TR0

D. S8JZTardohsw

LA BC D
268 O A
3.0, C, B, A
4.C, B, DA
Options :
5362285801. 1
5362285802. 2

5362285803. 3
5362285804. 4

Question Number : 101 Question Id : 5362281489 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



S Te0

-
o

2283 DT S (Bdra) ook :
A 50050
B. Oardidoosn

C. DR OOHF TR0

D. S8JZTardohsw

LA BC D
268 O A
3.0, C, B, A
4.C, B, DA
Options :
5362285801. 1
5362285802. 2

5362285803. 3
5362285804. 4

Question Number : 102 Question Id : 5362281490 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



D. D33

A B B
=B, B G A
.CAB, D
.D,A CB

B o L

Options :

5362285805. 1
5362285806. 2
5362285807. 3
5362285808. 4

Question Number : 102 Question Id : 5362281490 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A 53R DLHd
B. araaiZie) ersandhy,

C. 29a58iTes

a

T
L
&
=
-



Options :

5362285805. 1
5362285806. 2
5362285807. 3
5362285808. 4

Question Number : 103 Question Id : 5362281491 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

230000 57 e80T a3 Ea0
A 076 150

B. DRS00

C. Badd aDard

D. @80t

1.8 B G D
2C B D A
3.8, D, A, C
4. D A C B
Options :

5362285809. 1
5362285810. 2
5362285811. 3
5362285812. 4

Question Number : 103 Question Id : 5362281491 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



230000 5PeFR)) @anmB00) SDE00
A 20700 5o

B. @S0

C. G T

D. esdiaocHcs

O

Options :

5362285809. 1
5362285810. 2
5362285811.3
5362285812. 4

Question Number : 104 Question Id : 5362281492 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A B D
. D, A B
, A, D
: B

™1 M

P

B
A C

T

J

P

Options :

5362285813. 1
5362285814.2
5362285815. 3
5362285816. 4

Question Number : 104 Question Id : 5362281492 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A B D
. D, A B
, A, D
: B

™1 M

P

B
A C

T

J

P

Options :

5362285813. 1
5362285814.2
5362285815. 3
5362285816. 4

Question Number : 105 Question Id : 5362281493 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A. 80|TE05C000
B. 308 G 5ol
C. esO|erdes,
D. |02GF0IS

B

ay

= .':’“ﬁ (==

£

o
A

o

-b- L'-l f\-l __-.
O m o
m o~

sl

Options :

5362285817. 1
5362285818. 2
5362285819. 3
5362285820. 4

Question Number : 105 Question Id : 5362281493 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A. 80|TE05C000
B. 308 G 5ol
C. esO|erdes,
D. |02GF0IS

B

ay

= .':’“ﬁ (==

£

o
A

o

-b- L'-l f\-l __-.
O m o
m o~

sl

Options :

5362285817. 1
5362285818. 2
5362285819. 3
5362285820. 4

Question Number : 106 Question Id : 5362281494 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



B0 °¢38 DOoB R QDFroren0trow. 00 Dot daodrarmren hdodod.
ert5eh TH0T &) 2Tar Hotnoeren :

A es8F Daire3s

B. &5F oaoireds

C. S BBOS

D. eahdEn 206AHS

3. A, B P55
4. A, C S| ehan

Options :

5362285821. 1
5362285822.2
5362285823.3
5362285824. 4

Question Number : 106 Question Id : 5362281494 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



B0 °¢38 DOoB R QDFroren0trow. 00 Dot daodrarmren hdodod.
ert5eh TH0T &) 2Tar Hotnoeren :

A es8F Daire3s

B. &5F oaoireds

C. S BBOS

D. eahdEn 206AHS

3. A, B P55
4. A, C S| ehan

Options :

5362285821. 1
5362285822.2
5362285823.3
5362285824. 4

Question Number : 107 Question Id : 5362281495 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SrotOE eS0T B985 ST ) ewoFed Hdodod.
A Boh8%o

B. acd0)0720

C. By% rarsio

D. &3$e325% 23¢55 O

R0 Dadrerora) thdodod:

1. C, D Sr(edad
2. B, C S|ébad
3. A, D Sr|¢badd
4. A, C AP0

Options :

5362285825. 1
5362285826. 2
5362285827. 3
5362285828. 4

Question Number : 107 Question Id : 5362281495 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SrotOE eS0T B985 ST ) ewoFed Hdodod.
A Boh8%o

B. acd0)0720

C. By% rarsio

D. &3$e325% 23¢55 O

R0 Dadrerora) thdodod:

1. C, D Sr(edad
2. B, C S|ébad
3. A, D Sr|¢badd
4. A, C AP0

Options :

5362285825. 1
5362285826. 2
5362285827. 3
5362285828. 4

Question Number : 108 Question Id : 5362281496 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2,8 o' 07w S0 ¢ sden

A O
B. &
C &
D. &

. A, C (b
. B, D s3|eb3h
. C, D S3r|ghad
A, D S50

B

Options :

5362285829. 1
5362285830. 2
5362285831.3
5362285832. 4

Question Number : 108 Question Id : 5362281496 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2,8 o' 07w S0 ¢ sden

A O
B. &
C &
D. &

. A, C (b
. B, D s3|eb3h
. C, D S3r|ghad
A, D S50

B

Options :

5362285829. 1
5362285830. 2
5362285831.3
5362285832. 4

Question Number : 109 Question Id : 5362281497 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2Tl T RNGOMT HOOS'R 5 MHood :

3. A, D S7|ebad
4. B, D S7|¢ban

Options :

5362285833. 1
5362285834.2
5362285835. 3
5362285836. 4

Question Number : 109 Question Id : 5362281497 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2Tl T RNGOMT HOOS'R 5 MHood :

3. A, D S7|ebad
4. B, D S7|¢ban

Options :

5362285833. 1
5362285834.2
5362285835. 3
5362285836. 4

Question Number : 110 Question Id : 5362281498 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



THOEND’ 2N SD0D HDONL Y eSS SO )S Derew :

A 55O

C. =T0AFro

D. Sexa

DO Dadrerar) hlododk:
. A, B 353
. B, C S|ehad
. B, D &b
A, C 30|ehad

B

Options :

5362285837. 1
5362285838. 2
5362285839. 3
5362285840. 4

Question Number : 110 Question Id : 5362281498 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



THOEND’ 2N SD0D HDONL Y eSS SO )S Derew :

A 55O

C. =T0AFro

D. Sexa

DO Dadrerar) hlododk:
. A, B 353
. B, C S|ehad
. B, D &b
A, C 30|ehad

B

Options :

5362285837. 1
5362285838. 2
5362285839. 3
5362285840. 4

Question Number : 111 Question Id : 5362281499 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



23e) A DOOTE MHOOWANRS oz ew :
A aEeddoho

B. aFe Ta0cd)

o

C. TR0 O A

D. @850 5 300

e,

N0 Dadrgrara) hdodod :

a—

A, D 353
. C, D S| eh3d
. A, B 3r €63
. B, C 3| ¢bad

P L P —

Options :

5362285841. 1
5362285842.2
5362285843.3
5362285844. 4

Question Number : 111 Question Id : 5362281499 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



23e) A DOOTE MHOOWANRS oz ew :
A aEeddoho

B. aFe Ta0cd)

o

C. TR0 O A

D. @850 5 300

e,

N0 Dadrgrara) hdodod :

a—

A, D 353
. C, D S| eh3d
. A, B 3r €63
. B, C 3| ¢bad

P L P —

Options :

5362285841. 1
5362285842.2
5362285843.3
5362285844. 4

Question Number : 112 Question Id : 5362281500 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



&2 1808 73S 2 BOLE S0¢5E [HDehsE DOVOGO GOO el eSS Eom
Daa)iier0?

A e35)0, Bebad

B. (3N, DOONO DIDS S0k
C. iy, aroraieaZity

D. Z)abSTraben, 25eprd

DR DdreFoR) hlodod

1. B, D 37|53
2. C, D &Sr|ehad
3. A, D Sr|ehad
4. A, C (ha0

Options :

5362285845. 1
5362285846. 2
5362285847. 3
5362285848. 4

Question Number : 112 Question Id : 5362281500 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



&2 1808 73S 2 BOLE S0¢5E [HDehsE DOVOGO GOO el eSS Eom
Daa)iier0?

A e35)0, Bebad

B. (3N, DOONO DIDS S0k
C. iy, aroraieaZity

D. Z)abSTraben, 25eprd

DR DdreFoR) hlodod

1. B, D 37|53
2. C, D &Sr|ehad
3. A, D Sr|ehad
4. A, C (ha0

Options :

5362285845. 1
5362285846. 2
5362285847. 3
5362285848. 4

Question Number : 113 Question Id : 5362281501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



DONIES 213 @SS SO0S S (D &Tr (D2190 E05Q BRLT0SE

800N Hoderen :
A §%e

B. &8

& D

D. Hhocsd

o,

DO DTy hlododk:

e

. A, B 3P (eh3
. B, C S| eba
. B, D (€830
A, D S5

B

Options :

5362285849. 1
5362285850. 2
5362285851. 3
5362285852. 4

Question Number : 113 Question Id : 5362281501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



DONIES 213 @SS SO0S S (D &Tr (D2190 E05Q BRLT0SE

800N Hoderen :
A §%e

B. &8

& D

D. Hhocsd

o,

DO DTy hlododk:

e

. A, B 3P (eh3
. B, C S| eba
. B, D (€830
A, D S5

B

Options :

5362285849. 1
5362285850. 2
5362285851. 3
5362285852. 4

Question Number : 114 Question Id : 5362281502 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1506 S Sder Srdoneben :
A TOIE ArHSoey

B. Q0EIR S0ELIG00

C. 20&07G D20y

D. Q. 0ODHR0E

QDA NPT, (hBododk :

A, B SP|€50
. B, C Sr|edad
. C, D & ¢badd
. A, D &7°|€530

B

Options :

5362285853. 1
5362285854. 2
5362285855.3
5362285856. 4

Question Number : 114 Question Id : 5362281502 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1506 S Sder Srdoneben :
A TOIE ArHSoey

B. Q0EIR S0ELIG00

C. 20&07G D20y

D. Q. 0ODHR0E

QDA NPT, (hBododk :

A, B SP|€50
. B, C Sr|edad
. C, D & ¢badd
. A, D &7°|€530

B

Options :

5362285853. 1
5362285854. 2
5362285855.3
5362285856. 4

Question Number : 115 Question Id : 5362281503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1B a0 Ecden :
A Beng) [nE)ew

B. e&0%¢b

B N
(]
=
B

Options :

5362285857. 1
5362285858. 2
5362285859. 3
5362285860. 4

Question Number : 115 Question Id : 5362281503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1B a0 Ecden :
A Beng) [nE)ew

B. e&0%¢b

B N
(]
=
B

Options :

5362285857. 1
5362285858. 2
5362285859. 3
5362285860. 4

Question Number : 116 Question Id : 5362281504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



P00 0NV, TR T°e38en :

DChaES )

=

B. S &oen sEoen

S0 AN

C. &g 85¢
D. =

D0 Do) hdodhodk

. A, B 3|53
. B, D &b
. B, C 7| eha0
. A, D (6530

P L P

Options :

5362285861. 1
5362285862. 2
5362285863. 3
5362285864. 4

Question Number : 116 Question Id : 5362281504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



P00 0NV, TR T°e38en :

DChaES )

=

B. S &oen sEoen

S0 AN

C. &g 85¢
D. =

D0 Do) hdodhodk

. A, B 3|53
. B, D &b
. B, C 7| eha0
. A, D (6530

P L P

Options :

5362285861. 1
5362285862. 2
5362285863. 3
5362285864. 4

Question Number : 117 Question Id : 5362281505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2
G

I

£
kg
C‘-ﬁ
[ 754
g

£4
[F34
2

SR DO CRNTeD ;

C. &3O o
D. ez angQo
N0 DArerora) (hlohodk

. A, B J3r€550
.B, C S| ebad

. C, A S(sdah
. A, D SPeh3

B

Options :

5362285865. 1
5362285866. 2
5362285867. 3
5362285868. 4

Question Number : 117 Question Id : 5362281505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2
G

I

£
kg
C‘-ﬁ
[ 754
g

£4
[F34
2

SR DO CRNTeD ;

C. &3O o
D. ez angQo
N0 DArerora) (hlohodk

. A, B J3r€550
.B, C S| ebad

. C, A S(sdah
. A, D SPeh3

B

Options :

5362285865. 1
5362285866. 2
5362285867. 3
5362285868. 4

Question Number : 118 Question Id : 5362281506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



23N Wrares oS * Motifs * &0 BeniheS @er e0erdd
A SDTEFrOTeN

B. JTLTrew

C. Erozew

D. 20333500

DT NdrerorR) hbodod:

.D, B &7|eb3d
. B, A 3630
.C, D S |eb3d
LA, C Pedad

B

Options :

5362285869. 1
5362285870. 2
5362285871. 3
5362285872. 4

Question Number : 118 Question Id : 5362281506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



23N Wrares oS * Motifs * &0 BeniheS @er e0erdd
A SDTEFrOTeN

B. JTLTrew

C. Erozew

D. 20333500

DT NdrerorR) hbodod:

.D, B &7|eb3d
. B, A 3630
.C, D S |eb3d
LA, C Pedad

B

Options :

5362285869. 1
5362285870. 2
5362285871. 3
5362285872. 4

Question Number : 119 Question Id : 5362281507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



I
:
g

D. 560

N0 DArerora) (hlohodk

[l

1. A B SP(da0
2. A C APedad
3. B, C r(sdad
4. B, D S5°|¢8a0

Options :

5362285873. 1
5362285874.2
5362285875. 3
5362285876. 4

Question Number : 119 Question Id : 5362281507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



I
:
g

D. 560

N0 DArerora) (hlohodk

[l

1. A B SP(da0
2. A C APedad
3. B, C r(sdad
4. B, D S5°|¢8a0

Options :

5362285873. 1
5362285874.2
5362285875. 3
5362285876. 4

Question Number : 120 Question Id : 5362281508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



STOLID T DB E0eN :

A TP Tred0[rDe
B. 30 @) oros

C. 5.2 8003

D. dag TSroes

R0 NPT, HB0H0G :

1. A D P850
2. A, C S7|ghadd
3. B, D (€930
4. B, C S| ¢dadd

Options :

5362285877. 1
5362285878. 2
5362285879. 3
5362285880. 4

Question Number : 120 Question Id : 5362281508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



STOLID T DB E0eN :

A TP Tred0[rDe
B. 30 @) oros

C. 5.2 8003

D. dag TSroes

R0 NPT, HB0H0G :

1. A D P850
2. A, C S7|ghadd
3. B, D (€930
4. B, C S| ¢dadd

Options :

5362285877. 1
5362285878. 2
5362285879. 3
5362285880. 4

Question Number : 121 Question Id : 5362281509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



D8 AOCHo BT 20M0S @RNIO0DS Doy b SThden :

A FTBOOED

C. 5000
D. 200 D030
DM NarFrR) hbodhod

1. A, B SF(e3
2. A, C S7|ehan
3. B, C sir|ghadd
4. C, D Sr|ghadd

Options :

5362285881. 1
5362285882. 2
5362285883. 3
5362285884. 4

Question Number : 121 Question Id : 5362281509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



D8 AOCHo BT 20M0S @RNIO0DS Doy b SThden :

A FTBOOED

C. 5000
D. 200 D030
DM NarFrR) hbodhod

1. A, B SF(e3
2. A, C S7|ehan
3. B, C sir|ghadd
4. C, D Sr|ghadd

Options :

5362285881. 1
5362285882. 2
5362285883. 3
5362285884. 4

Question Number : 122 Question Id : 5362281510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



BFBXTE O BS R (b :
A T2 S50retd

B. Z0058) Sehnd

C. T2 sroncd

D. DOLHBD

DA AP HBododk :

1. A, B Sr|e63D
2. B, C r|edad
3. B, D &7(¢dah
4. A, C 5P| ¢hah

Options :

5362285885. 1
5362285886. 2
5362285887. 3
5362285888. 4

Question Number : 122 Question Id : 5362281510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



BFBXTE O BS R (b :
A T2 S50retd

B. Z0058) Sehnd

C. T2 sroncd

D. DOLHBD

DA AP HBododk :

1. A, B Sr|e63D
2. B, C r|edad
3. B, D &7(¢dah
4. A, C 5P| ¢hah

Options :

5362285885. 1
5362285886. 2
5362285887. 3
5362285888. 4

Question Number : 123 Question Id : 5362281511 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



S0e502d ST Syen ;
A @Q08 forrdds 52

B. Z0¢05r0 ok 5D

C. 5H%

D. d0%are) Sosr 52
R0 ddrerora) hdood

1. A, C S|ehadd
2. A B 37530
3. B, C &3r(eban
4. C, D 37530

Options :

5362285889. 1
5362285890. 2
5362285891. 3
5362285892. 4

Question Number : 123 Question Id : 5362281511 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



S0e502d ST Syen ;
A @Q08 forrdds 52

B. Z0¢05r0 ok 5D

C. 5H%

D. d0%are) Sosr 52
R0 ddrerora) hdood

1. A, C S|ehadd
2. A B 37530
3. B, C &3r(eban
4. C, D 37530

Options :

5362285889. 1
5362285890. 2
5362285891. 3
5362285892. 4

Question Number : 124 Question Id : 5362281512 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



DB TNe)R eand™d Edow|ed Sorraang Gudaden :

A, &5l D00

D. e N8
D0 DdrToR) thdododk

1. A C Sr|ehad
2. A B Sr(eh3d
3. B, C S(eha
4. C, D 3| eba

Options :

5362285893. 1
5362285894. 2
5362285895. 3
5362285896. 4

Question Number : 124 Question Id : 5362281512 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



DB TNe)R eand™d Edow|ed Sorraang Gudaden :

A, &5l D00

D. e N8
D0 DdrToR) thdododk

1. A C Sr|ehad
2. A B Sr(eh3d
3. B, C S(eha
4. C, D 3| eba

Options :

5362285893. 1
5362285894. 2
5362285895. 3
5362285896. 4

Question Number : 125 Question Id : 5362281513 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



D. P80
D0 DArraeR) hdodod :

A, D SPe3D
A, C AP|edad
A, B P53
. B, C 3 e830

B

Options :

5362285897. 1
5362285898. 2
5362285899. 3
5362285900. 4

Question Number : 125 Question Id : 5362281513 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



D. P80
D0 DArraeR) hdodod :

A, D SPe3D
A, C AP|edad
A, B P53
. B, C 3 e830

B

Options :

5362285897. 1
5362285898. 2
5362285899. 3
5362285900. 4

Question Number : 126 Question Id : 5362281514 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2P T EEG0S R Dardd JEreN :
A B0 HSTe

B. DT 420200 8¢ to2n D2radh
C. 20 &0 P|edchocvoniersy

D. 3¢ B HB0L

DA AP 8otk :

A, B 373
. B, C SF|ed3h
. C, D S| ¢dahd
. A, D €530

B R

Options :

5362285901. 1
5362285902. 2
5362285903. 3
5362285904. 4

Question Number : 126 Question Id : 5362281514 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2P T EEG0S R Dardd JEreN :
A B0 HSTe

B. DT 420200 8¢ to2n D2radh
C. 20 &0 P|edchocvoniersy

D. 3¢ B HB0L

DA AP 8otk :

A, B 373
. B, C SF|ed3h
. C, D S| ¢dahd
. A, D €530

B R

Options :

5362285901. 1
5362285902. 2
5362285903. 3
5362285904. 4

Question Number : 127 Question Id : 5362281515 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



L300 TITREN ;
A EDEHE
B 4856

C.

&

OV TN
D. 2330

2

a—
D
it

2r
o

TR, (hBo0dk

. ol

A, B 3¢5
A, C (e
. B, C Sr|ebadd
. C, D 3| e85

B

Options :

5362285905. 1
5362285906. 2
5362285907. 3
5362285908. 4

Question Number : 127 Question Id : 5362281515 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



L300 TITREN ;
A EDEHE
B 4856

C.

&

OV TN
D. 2330

2

a—
D
it

2r
o

TR, (hBo0dk

. ol

A, B 3¢5
A, C (e
. B, C Sr|ebadd
. C, D 3| e85

B

Options :

5362285905. 1
5362285906. 2
5362285907. 3
5362285908. 4

Question Number : 128 Question Id : 5362281516 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



S0eses e 008, 00 tieared 8 T8 dhedd TOo

£,
E.AR'
2
¢

A Bfe

. QG
e
D. ®adod

D0 DT thlododk:

a—

A, C SFehad
. B, D &5
.C, D 3| ehadd
A, B SPe530

o L P —

Options :

5362285909. 1
5362285910. 2
5362285911. 3
5362285912. 4

Question Number : 128 Question Id : 5362281516 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



S0eses e 008, 00 tieared 8 T8 dhedd TOo

£,
E.AR'
2
¢

A Bfe

. QG
e
D. ®adod

D0 DT thlododk:

a—

A, C SFehad
. B, D &5
.C, D 3| ehadd
A, B SPe530

o L P —

Options :

5362285909. 1
5362285910. 2
5362285911. 3
5362285912. 4

Question Number : 129 Question Id : 5362281517 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1BeS B0l FR) O H|egen :

A HoTAreddo
B. S50

C. e

D. 2rdebires

D0 VIR hlodod
1. A, B A7 |€850
2. A CAFeban
3. B, C | ¢hadd
4. B, D S7|¢han

Options :

5362285913. 1
5362285914.2
5362285915. 3
5362285916. 4

Question Number : 129 Question Id : 5362281517 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1BeS B0l FR) O H|egen :

A HoTAreddo
B. S50

C. e

D. 2rdebires

D0 VIR hlodod
1. A, B A7 |€850
2. A CAFeban
3. B, C | ¢hadd
4. B, D S7|¢han

Options :

5362285913. 1
5362285914.2
5362285915. 3
5362285916. 4

Question Number : 130 Question Id : 5362281518 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



oS fied HNESQ TETreN O HSBED 0D @DHTH0 BT

A B0

B. odoh zmodair
C. |(Hzris

D. D020

D0 DadrerorR) thdotod

1. A C 3F|edah
2. A D SPeh3D
3. B, C S(ghad
4. A B Sr(ehan

Options :

5362285917. 1
5362285918. 2
5362285919. 3
5362285920. 4

Question Number : 130 Question Id : 5362281518 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



oS fied HNESQ TETreN O HSBED 0D @DHTH0 BT

A B0

B. odoh zmodair
C. |(Hzris

D. D020

D0 DadrerorR) thdotod

1. A C 3F|edah
2. A D SPeh3D
3. B, C S(ghad
4. A B Sr(ehan

Options :

5362285917. 1
5362285918. 2
5362285919. 3
5362285920. 4

Question Number : 131 Question Id : 5362281519 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1806 eI 236808508

2rilEr | erdde ||
A o0 dErgdesied 1L AT DI e 5N
B. e¢ dode I ddS0een Dy
C. ge30%eh . Trerd epen
D. dSsaeed 8 dedso V. 530 HESFanod
R0 DaAroR) thdodhod

A= N Bl G-l D=
Z A= B=ll £ D=1
3 A=l B=N;C=1L D~
4. A-I,B-I, C—IV, DIl

Options :

5362285921. 1
5362285922.2
5362285923. 3
5362285924. 4

Question Number : 131 Question Id : 5362281519 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1806 eI 236808508

2rilEr | erdde ||
A o0 dErgdesied 1L AT DI e 5N
B. e¢ dode I ddS0een Dy
C. ge30%eh . Trerd epen
D. dSsaeed 8 dedso V. 530 HESFanod
R0 DaAroR) thdodhod

A= N Bl G-l D=
Z A= B=ll £ D=1
3 A=l B=N;C=1L D~
4. A-I,B-I, C—IV, DIl

Options :

5362285921. 1
5362285922.2
5362285923. 3
5362285924. 4

Question Number : 132 Question Id : 5362281520 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1B0& 3R 2368085508

erd)e | e |
A @ o580 . So¥8so
B. @7 H%0 Il. o%Fo
C. o320 . HH%en
D. ety IV. eoq) Earew
R0 DATrcTorR) thlodhodk

A=A B - 1l Bl
2oA—=N B=4 G-, D=1l
3.A=I B-I, C=IV, DI
4. A-L B, C=1IV; DI

Options :

53622859251
5362285926. 2
5362285927. 3
5362285928. 4

Question Number : 132 Question Id : 5362281520 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1B0& 3R 2368085508

erd)e | e |
A @ o580 . So¥8so
B. @7 H%0 Il. o%Fo
C. o320 . HH%en
D. ety IV. eoq) Earew
R0 DATrcTorR) thlodhodk

A=A B - 1l Bl
2oA—=N B=4 G-, D=1l
3.A=I B-I, C=IV, DI
4. A-L B, C=1IV; DI

Options :

53622859251
5362285926. 2
5362285927. 3
5362285928. 4

Question Number : 133 Question Id : 5362281521 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1206 R 23680850508

erde |
A 0GE void
B. GOmra3}

C. DeiaIrd D sk
D. Sad TabEyandd

D0 DIrFoR) thlodhodk

— g

LA=ILB=IV, C-1, D=l
2.A=1, B—Ill, C=IV, D~-]
FA=IB=LC=]; D=1l
4. A=, B=ILC=N, D=

Options :

5362285929. 1
5362285930. 2
5362285931. 3
5362285932. 4

Question Number : 133 Question Id
Correct Marks : 2 Wrong Marks : 0

i ||

| E TR0

aDE3S e o30a3Peh 3 e
DT ErdS WOk

V.  a0a5") B0TPR a)eTPadeind

: 5362281521 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



1206 R 23680850508

erde |
A 0GE void
B. GOmra3}

C. DeiaIrd D sk
D. Sad TabEyandd

D0 DIrFoR) thlodhodk

— g

LA=ILB=IV, C-1, D=l
2.A=1, B—Ill, C=IV, D~-]
FA=IB=LC=]; D=1l
4. A=, B=ILC=N, D=

Options :

5362285929. 1
5362285930. 2
5362285931. 3
5362285932. 4

Question Number : 134 Question Id
Correct Marks : 2 Wrong Marks : 0

i ||

| E TR0

aDE3S e o30a3Peh 3 e
DT ErdS WOk

V.  a0a5") B0TPR a)eTPadeind

: 5362281522 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



‘DOES TSR AIB 2 DS DOTE HBodod :

2rder | erde ||
A, Bed £2eb ga L S50 SO TR
B. @R £eb gain Il e 50 O°e DG
C. e®ddd Db . TeHeHE) £ya T
D. a3t EDed V. Trohffen doer)Tt)

R0A AT, HBothod :

1.A-NLB-IV,C-I|,D-Il
2. A=, B=1 C=I1l, D=\
3.A-ILB-IlLC-1V, D-I
4. A-IV.B-IIlLC-I, D=l

Options :

5362285933. 1
5362285934.2
5362285935. 3
5362285936. 4

Question Number : 134 Question Id : 5362281522 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘DOES TSR AIB 2 DS DOTE HBodod :

2rder | erde ||
A, Bed £2eb ga L S50 SO TR
B. @R £eb gain Il e 50 O°e DG
C. e®ddd Db . TeHeHE) £ya T
D. a3t EDed V. Trohffen doer)Tt)

R0A AT, HBothod :

1.A-NLB-IV,C-I|,D-Il
2. A=, B=1 C=I1l, D=\
3.A-ILB-IlLC-1V, D-I
4. A-IV.B-IIlLC-I, D=l

Options :

5362285933. 1
5362285934.2
5362285935. 3
5362285936. 4

Question Number : 135 Question Id : 5362281523 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1B06 3R 368085050 &

2rde | e |
A DTN I oe3ersd Sdden
B. e33sed % Sdden Il owd ey

C. Do wed Zdhen .
D. @b $eden V. DoderzEo Tl
DO DTy hlododk:

T.A=-NB=LC-1, D=Il
2ol L B =N © =1l D=l
3A-NB-Il,C=I, DIl
4 A= BN, C-Il, D-I

Options :

5362285937. 1
5362285938. 2
5362285939. 3
5362285940. 4

Question Number : 135 Question Id : 5362281523 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1B06 3R 368085050 &

2rde | e |
A DTN I oe3ersd Sdden
B. e33sed % Sdden Il owd ey

C. Do wed Zdhen .
D. @b $eden V. DoderzEo Tl
DO DTy hlododk:

T.A=-NB=LC-1, D=Il
2ol L B =N © =1l D=l
3A-NB-Il,C=I, DIl
4 A= BN, C-Il, D-I

Options :

5362285937. 1
5362285938. 2
5362285939. 3
5362285940. 4

Question Number : 136 Question Id : 5362281524 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1B0& 3R 2360085508

erédeE | Fée |
A S S LR B VNN
B. 8a0uiadn Il T 5558 25955
C. DY ., r0HE 3¢S0
D. F% V. &R0

DT DdrToR) thdododk

Labe—k B HaG-IN B
2=l Bl G =l D
o=l B, Cd, D IV
4. A-IV, B C-Il, DIl

Options :

5362285941. 1
5362285942.2
5362285943. 3
5362285944. 4

Question Number : 136 Question Id : 5362281524 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1B0& 3R 2360085508

erédeE | Fée |
A S S LR B VNN
B. 8a0uiadn Il T 5558 25955
C. DY ., r0HE 3¢S0
D. F% V. &R0

DT DdrToR) thdododk

Labe—k B HaG-IN B
2=l Bl G =l D
o=l B, Cd, D IV
4. A-IV, B C-Il, DIl

Options :

5362285941. 1
5362285942.2
5362285943. 3
5362285944. 4

Question Number : 137 Question Id : 5362281525 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1B0H 73R 236508506G%

2rée | 2rdde |l
A SFPLD I ebed
B. @&k0a05t Il essFes
C. Mehadncd . cedd
D. #¥5yc V. eathHodded

N0 DaArorR) hlodod

A= B=IE—N D=l

2ZA-NILB-ILC-1,D-IV

3.A-1LB=T,C=N; D=

4 A-IW,B-1l,C-1l,D-1I
Options :

5362285945. 1
5362285946. 2
5362285947. 3
5362285948. 4

Question Number : 137 Question Id : 5362281525 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1B0H 73R 236508506G%

2rée | 2rdde |l
A SFPLD I ebed
B. @&k0a05t Il essFes
C. Mehadncd . cedd
D. #¥5yc V. eathHodded

N0 DaArorR) hlodod

A= B=IE—N D=l

2ZA-NILB-ILC-1,D-IV

3.A-1LB=T,C=N; D=

4 A-IW,B-1l,C-1l,D-1I
Options :

5362285945. 1
5362285946. 2
5362285947. 3
5362285948. 4

Question Number : 138 Question Id : 5362281526 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1B0H rE3R) 205045

e | e |
A, Foied L BB THO
B. Rozrdu)cy Il. 55650
C. rgordien . TieDged 00

D. 3¢ 270 V. 5650
D0 DArraeR) hdodod :

TA-ILB-ILC-IV, D-1
2A-ILB=-ILC-L DIV
SA-LB-INC-li; D1V
4 A-IILB-1LC-IM,D-1

Options :

5362285949. 1
5362285950. 2
5362285951. 3
5362285952. 4

Question Number : 138 Question Id : 5362281526 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1B0H rE3R) 205045

e | e |
A, Foied L BB THO
B. Rozrdu)cy Il. 55650
C. rgordien . TieDged 00

D. 3¢ 270 V. 5650
D0 DArraeR) hdodod :

TA-ILB-ILC-IV, D-1
2A-ILB=-ILC-L DIV
SA-LB-INC-li; D1V
4 A-IILB-1LC-IM,D-1

Options :

5362285949. 1
5362285950. 2
5362285951. 3
5362285952. 4

Question Number : 139 Question Id : 5362281527 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1IB0& 30 236000508

2rde | 2rde ||
A FRHO HharEso . 35 s
B. J%OAINTTR TR Il DT s
C. 070 ToELBL TR NIl &8 arep:
D. ¢S T%0r0 3R V. Ge0e305:50
D0 AAFTR) hdothodk

LA=-ILB =L C~I} D~V
2A-INVB-ILE-1| D=l
3. AL B =M, C~I, DI
4 A-LB-ILC-I} D~

Options :

5362285953. 1
5362285954. 2
5362285955.3
5362285956. 4

Question Number : 139 Question Id : 5362281527 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1IB0& 30 236000508

2rde | 2rde ||
A FRHO HharEso . 35 s
B. J%OAINTTR TR Il DT s
C. 070 ToELBL TR NIl &8 arep:
D. ¢S T%0r0 3R V. Ge0e305:50
D0 AAFTR) hdothodk

LA=-ILB =L C~I} D~V
2A-INVB-ILE-1| D=l
3. AL B =M, C~I, DI
4 A-LB-ILC-I} D~

Options :

5362285953. 1
5362285954. 2
5362285955.3
5362285956. 4

Question Number : 140 Question Id : 5362281528 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1B0& 3R 2360085508

e | e ||
A. Transformation L )99
B. Transcreation Il Tedeago
C. Transcription L 2383005
D. Skill V. Q505880

DT DdrToR) thdododk
1.A-,B-1,C-IV,D-Ii
2.A-1LB-1,C—-IV,D-1l
3.A-L,B-1,C-NI,D-IV
4. A-IV,B-II,C—1,D-1

Options :

5362285957. 1

5362285958. 2

5362285959. 3
5362285960. 4

Question Number : 140 Question Id : 5362281528 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1B0& 3R 2360085508

e | e ||
A. Transformation L )99
B. Transcreation Il Tedeago
C. Transcription L 2383005
D. Skill V. Q505880

A0 DXL

: ol

g\ elotnlele E

A-NILB-LC-IV, DI
A-ILE-LC-IV, D1
A-LB-ILC-NLD-IV
A=NMB = €= b1l

B

Options :

5362285957. 1
5362285958. 2
5362285959. 3
5362285960. 4

Sub-Section Number : 2
Sub-Section Id : 53622859
Question Shuffling Allowed : Yes

Question Id : 5362281529 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension



Bod Jmrg) O, ADNIN [(DE)OH AV ddrrraren HBosod :
1257568 SODTENES HRDET DIESOS

2237 7 50e80Ch D TG ) S Ren0chS Qe

(29535000 NPT WSChEEr Y050 AP0

|2057°] 2705 BTG o306 QETHIE020 AT .

Sub questions

Question Number : 141 Question Id : 5362281530 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

&2 D50 & 5350 D0G (Haronab0b?

aFORETRD

. YOS TG0
.59 DO

. DBCD TR

= A

Options :

5362285961. 1
5362285962. 2
5362285963. 3
5362285964. 4

Question Number : 142 Question Id : 5362281531 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



I LiJ ] -—

o

-g e &Y

£ o

flo

n:: [Lx]

o

LT

2s

. G RTECED

Options :

5362285965. 1
5362285966. 2
5362285967. 3
5362285968. 4

Question Number : 143 Question Id : 5362281532 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

nwWwN oo
4
9, o
O
4
23

Options :

5362285969. 1
5362285970. 2
5362285971. 3
5362285972. 4

Question Number : 144 Question Id : 5362281533 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AW o
=

Options :

5362285973. 1
5362285974.2
5362285975. 3
5362285976. 4

Question Number : 145 Question Id : 5362281534 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘DALAAH'S R DD :

DAGEE Hod
DI VOB
. e dod
oeTTE Hod

Ao

Bowo

Options :

5362285977. 1
5362285978. 2
5362285979. 3
5362285980. 4

Question Id : 5362281529 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension



Bod Jmrg) O, ADNIN [(DE)OH AV ddrrraren HBosod :
1257568 SODTENES HRDET DIESOS

2237 7 50e80Ch D TG ) S Ren0chS Qe

(29535000 NPT WSChEEr Y050 AP0

|2057°] 2705 BTG o306 QETHIE020 AT .

Sub questions

Question Number : 141 Question Id : 5362281530 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

&2 D50 & 5350 D0G (Haronab0b?

aFORETRD

. YOS TG0
.59 DO

. DBCD TR

= A

Options :

5362285961. 1
5362285962. 2
5362285963. 3
5362285964. 4

Question Number : 142 Question Id : 5362281531 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



I LiJ ] -—

o

-g e &Y

£ o

flo

n:: [Lx]

o

LT

2s

. G RTECED

Options :

5362285965. 1
5362285966. 2
5362285967. 3
5362285968. 4

Question Number : 143 Question Id : 5362281532 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

nwWwN oo
4
9, o
O
4
23

Options :

5362285969. 1
5362285970. 2
5362285971. 3
5362285972. 4

Question Number : 144 Question Id : 5362281533 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AW o
=

Options :

5362285973. 1
5362285974.2
5362285975. 3
5362285976. 4

Question Number : 145 Question Id : 5362281534 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘DALAAH'S R DD :
DAY Dod

i
DI VOB
. e dod

oeTTE Hod

Ao

Bowo

Options :

5362285977. 1
5362285978. 2
5362285979. 3
5362285980. 4

Sub-Section Number : 3
Sub-Section Id : 53622860
Question Shuffling Allowed : Yes

Question Id : 5362281535 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (146 to 150)
Question Label : Comprehension

Bod DD A, A )N D)0 SBS Ssrpraren hlotod :

e

20183, Zhaorrs'
5650(78y, edSorresS’

SE0DES IrorrsS D! D Fed!

SO0H e B grorresS
DD JHG SBomrsS
OIMH023 HYBOTES ED! Drerd!

Sub questions

Question Number : 146 Question Id : 5362281536 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

0308 H023529¢90mS 1 8D 1 § rerd!

1. therdd @ar Tty
2. 050 6T &

3. 3o|STH Tetird
4.8

Options :

5362285981. 1
5362285982. 2
5362285983. 3
5362285984. 4



Question Number : 147 Question Id : 5362281537 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

20 AQ) 650 |00 DT,

1. 2563
2. Do

3. S0

4. senthd
Options :
5362285985. 1
5362285986. 2

5362285987. 3
5362285988. 4

Question Number : 148 Question Id : 5362281538 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Q0NS Q) (BAITesSs DFALTENT™) OW?

e
TN WY
eald)

LEN i
ol

oo

Options :

5362285989. 1
5362285990. 2
5362285991. 3
5362285992. 4

Question Number : 149 Question Id : 5362281539 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘5000 @0t aane3?

oo
BT
.0 850
TTLO

B

Options :

5362285993. 1
5362285994. 2
5362285995. 3
5362285996. 4

Question Number : 150 Question Id : 5362281540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

26 20 Bed?

35
i \el(w)
E=Melne!
B3

L P

Options :

5362285997. 1
5362285998. 2
5362285999. 3
5362286000. 4

Question Id : 5362281535 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension



508 D& KA, AN )N 1HNF 0% OB Sdrpraren HBotiod :

(]

DQ0IET) 2hasorsS
5650|878, hodorreS

3050583 SreborreS’ €)1 Q FreS!

S00H e B L£ForsS
DeaH K edSorreS”
03¢0 N9¢0rS €1 Harerd!

Sub questions

Question Number : 146 Question Id : 5362281536 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

O30E 102833950 1 5D 1 Q rerd!

D827 0T
5D 207 B

N lellatvyalorevie
)

Options :

5362285981. 1
5362285982. 2
5362285983. 3
5362285984. 4

T

Question Number : 147 Question Id : 5362281537 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
0D’ D) 65O |TFEDOR T

1. 2,863
2. Dot

3. S0P

4. Srenihd
Options :
5362285985. 1
5362285986. 2

5362285987. 3
5362285988. 4

Question Number : 148 Question Id : 5362281538 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

20D’ DA, (BOsrazsds DAAET VD) CN?

e
TN
estio
D

e

Options :

5362285989. 1
5362285990. 2
5362285991. 3
5362285992. 4

Question Number : 149 Question Id : 5362281539 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘5000 @0t aane3?

1. o
2. DA
3. 28 8650
4, STFEFE0

Options :

5362285993. 1
5362285994. 2
5362285995. 3
5362285996. 4

Question Number : 150 Question Id : 5362281540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

26 20 Bed?

Options :

5362285997. 1
5362285998. 2
5362285999. 3
5362286000. 4



